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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367201
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983673357 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and one word is given on another side of : :
while another word is to be found from the given alternatives, having the same relation with the word as the words of
the given pair.

Choose the correct alternative.

Fly : Insect :: Bat:?
Options:
1. = Bird

? « Mammal

3 x Height

A« Dark

Question Number : 1 Question Id : 9983673357 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

1 % TH AR few oY ueet & A= v fafRmw wew g, R F gEl 3R v o= famr maw g, w9l
foT 71T Soreal H ¥ 3eF e TIAT ¢ ST 37 A ¥ J¢r o9 & 3 BT 71T F12 &F gy & &=
gl

wer e 4

AFHT : i FHIEs - ?
Options:

1. = &R



2. v TEeardr

Question Number : 2 Question Id : 9983673358 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A starts from a point and walks 5 kms north, then turms left and walks 3 kis. Then again turns left and walks 5 kms.
Point out the direction in which he is going now.

Options:
1. = North

? % East

3.« South

. % West

Question Number : 2 Question Id : 9983673358 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A T% f§g & F0 % LT § 3R 5 kms 3ot @r AR T &, T a5 AT #AFH 3 kms TaAeT 2
3w 9% O & 91¢ J3a1 § 3R 5 kms 9 g FoAA & 7 5@ fGar #r aw 99 w1 @ 2

Options:

1. & 3ecal




Question Number : 3 Question Id : 9983673359 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated word is given. Choose a word from the given alternatives that is similar to the given words
and hence belongs to the same group.

TOKYO : DELHI : PARIS
Options:
1. = Kenya

? % Russia

3.« Rome

/. % Cuba

Question Number : 3 Question Id : 9983673359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e TER HEOT eredl 1 U THg far mar 31 R e et & @ 97w g9 S R v et &
A & AN 3§ THR 3@ §Hg ¥ "aod @l

et ;- feeenr - 9w
Options:

1. = hedr

2. » ®F



Question Number : 4 Question Id : 9983673360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated numbers are given. Choose a numbers from the given alternatives that is similar to the
given numbers and hence belongs to the same group.

39:143:221
Options:

1. % 121

7 % 192

3 v 247

Question Number : 4 Question Id : 9983673360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

i RER FElUa AT H vF A fGar T g U v Rwedt § § 9w g g6 A & .
TEITHT % FA @ AR 37 TR 36 THg & FeOd @

39 : 143 : 221
Options:
1. = 121

2 % 192



3. v 247

4. » 323

Question Number : 5 Question Id : 9983673361 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the same as Pound, Lira and Yen?
Options:

1. % Britain

7 % Japan

3w Turkey

4. « Krona

Question Number : 5 Question Id : 9983673361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= 7 ¥ FiF T ur3s, oy 3t A9 T g8y 1@ar 27

Options:
1. = foe=s
7w FAEH



4. » T

Question Number : 6 Question Id : 9983673362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of words are given out of which the words in three pairs bear a certain common relationship. Choose the pair
in which the words are differently related.

Options:
1. ® Blend: Mix

? % Flaw : Defect

3 % Mend: Repair

/4. v Lend: Borrow

Question Number : 6 Question Id : 9983673362 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

eel F TR SE T e § oeH & @ S F et F 99 v AfYea wAe wEy g 9w S g
forgd o @ 9N ¥ EIT g 2

Options:

1. = o @S s




Question Number : 7 Question Id : 9983673363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of numbers are given out of which the numbers in three pairs bear a certain common relationship. Choose the
pair in which the numbers are differently related.

Options:
1. ¢ 39-63

7 % 11-13

A = 47-61

Question Number : 7 Question Id : 9983673363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTEIT F I AR R v § SeE ¥ O FE #F st ¥ i s AfPug g e 59§ 38 A
7 T TEw B TR § RER wEd

Options:
1. v 39 -63
2 % 11-13
3 % 23-29
4. % 47 - 61

Question Number : 8 Question Id : 9983673364 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Read the following information carefully and answer the question given below.

1. L.M. N, O, P and QQ are members of a club

12

There is one married couple in the group
3. O is the only married female in the group
4. L and N are two ladies

5. Qs a brother of L and is not married

6. P isasister of Q

How many female members are there in the group?

Options:

1. = 2

2. % 3

3. v 4

Question Number : 8 Question Id : 9983673364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 9983673365 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin, Sahil, Sandhya, Sani, Sanju, Saurabh, Shweta and Sunil are sitting around a round table in the same order for
lunch at equal distance. Their positions are clockwise. If Sanju sits in West, then what will be the position of Sunil?

Options:
1. + North - East

? % North - West

3. % South - East

4. % South - West

Question Number : 9 Question Id : 9983673365 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

wfE=, difger, @, T, 6, Wi, @ R gAe, o= & v vw e A & 9n) 3R A gRan
W W FA F A3 F| 30 ufy gEomas @) o w9 oRww # ¥ & O g0 i Rl a=w g
Options:

1. v 3R - T

2. % 3o - 9¥EH



Question Number : 10 Question Id : 9983673366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three different positions of the same dice are shown. Find which one is opposite the face showing ):( ?

[/ >
ﬂﬂ 3 WO

[ %]
Lad

Options:

1. =

vaafﬁ\o -

4 %

Question Number : 10 Question Id : 9983673366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.

2. ¢
3_;;%
.4@5

Question Number : 11 Question Id : 9983673367 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Six children A, B, C, D, E and F are standing in a line. F is to the left of E and right of B. D is between A and B. A is
standing right of C Who is standing at the left extreme?

Options:
l.v C



Question Number : 11 Question Id : 9983673367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CET=9A B C. D EdRFFIRa @I FLEFav 3R BFauegl D AdRBFITA
gl A, C & 3T TsT ¢ ¥ B W HiaT Ter &7

Options:
1. v C
2. % A
3. = E
4, = D

Question Number : 12 Question Id : 9983673368 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

S, T.U, V. X, Y and Z are sitting around a round table for group discussion. Y is sitting third to the right of S and
between V and X. Z is sitting second to the left of T. V is sitting second to the left of X. What will be the position of U?

Options:
1. » U issitting second to the left of Y

? x Ulissitting between Y and Z



3  Ulssitting second to the left of S

4. » U issitting third to the left of X

Question Number : 12 Question Id : 9983673368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STUVXYIRZaGETFRTwMaaA7 & IR AT I3 Y, S F ¢ I T
IRV, XF T FHLIZ, TF a0 gl BIF RV, X & 8¢ g& B ) g1 U Fr Bufg 7 82

Options:

1 % U Y F AT gE FAH R FT £

2 % U YA ZF AT F ST g

3 o U S % aT g FUE W T g

4« U X & a0 E T 9T I3 g

Question Number : 13 Question Id : 9983673369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Doby is sister of John and older than Shreva.
1L Shreva is older than John and sister of John.
III.  John is oldest among the siblings.

If the first two statements are true, the third statement is:
Options:
1. ® Trme

? « False



3 x May be true

4. % TUncertain

Question Number : 13 Question Id : 9983673369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. =rET, ST 98 g 30T SRr ¥ 99 7

II. ST, ST ¥ 937 ¢ 3R ST 7 587 gl
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Options:

1. = TEr g

2 o T g

3. x W & Fehdll gl

4« ¥HEAREF F

Question Number : 14 Question Id : 9983673370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A farmer has 45 buffalos. All but 13 died. How many was he left with?
Options:
1. & 32

2. v 13



3 % 45

4. = Nil

Question Number : 14 Question Id : 9983673370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T A F 9T 45 SF o7 13 o5 = T 3 9| 30% 9@ Ghaar dF s=9?

Options:

1. = 32
2. v 13
3 = 45

Question Number : 15 Question Id : 9983673371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the image of the figure when mirror is placed down to the figure horizontally?

Options:



=

4, v

Question Number : 15 Question Id : 9983673371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 TH UUT H A & A aifas T & A @ AT g ar 3 # ofy 2w geie
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Question Number : 16 Question Id : 9983673372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Following are the criteria to recruit a Teacher in a college:
I.  The Applicant must be science graduate with 75% marks.

II.  Have his/her age in between 25 to 32 years as on 10-05-2019.

III. Have a PG degree/ 3 years diploma or must have completed B.Ed. with more than 65% marks.
IV. Have minimum 3 years’ experience in Teaching.

V.  Beready to join 2 year probation.
If a candidate satisfies all the criteria except
at III above, but is an Arts with Mathematics graduate with minimum 72% marks and has an experience of more
than 5 years and more her/his case is to be referred to the Vice President.
at IV above, but master degree’s with minimum 60% marks, her/his is to be referred to the President
A detail of applicant is given below in the questions. On the basis of the following decision which is based on the data
given above, mark the answer.
Varun is a B.Sc. Graduate with 85% marks and has completed PG in Mathematics. He born on 1.3.1987 and has 6
years’ experience as a Mathematics Faculty. He is ready to join probation period of 2 year.

Options:

1. ® If case is to be referred to President.
? % If case is to be referred to Vice President.
3. w If candidate is to be selected.

/], If the candidate is not to be selected



Question Number : 16 Question Id : 9983673372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 9983673373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given alternative words, select the word which cannot be formed using the letters of the given word
“OUTRAGEOQOUS".

Options:
1. ®# GREAT



7 % OUTAGE

3 % SURAT

/4.« GREGARIOUS

Question Number : 17 Question Id : 9983673373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T sIv 3=foas g’ W, 3T 9 & T04 F{ o fEU 71T e "OUTRAGEQUS" & el &7 394
FL Fel AT T TohaT gl

Options:

1. = GREAT

2 % OUTAGE

3. » SURAT

4. v+ GREGARIOUS

Question Number : 18 Question Id : 9983673374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursning.

Statement:
Military is backbone for defense in any country. Military training makes a powerful nation.

Decisions:

I.  Military training must be compulsory for every citizen.
II.  People should motivate to join military training voluntarily.

Options:



1. » OnlyIfollows.

? % BothIand II follow.

3 % Either I or II follow.

4.  OnlyII follows.

Question Number : 18 Question Id : 9983673374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2w | 3R e wEr

3w Ararl il mér gl

4. » Fad 1 T E

Question Number : 19 Question Id : 9983673375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement:
Orissa if badly affected by Fani cyclone and life is paralyzed in the state.
Decisions:

[.  People should train to face natural disaster.

II. Relief material collection and distribution should be fast in affected area
Options:
1. » OnlyIfollows.

? « BothIand II follow.

3. % EitherI or II follow.

4. = OnlyII follows.

Question Number : 19 Question Id : 9983673375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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A w aer |l T B

Question Number : 20 Question Id : 9983673376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement:
All employees of the office have gone on strike in protest against the miss behave of the director.
Decisions:

I.  The director should be immediately terminated from job or he should apologize to employee.

II.  All the employees should be immediately terminated from job.
Options:
1. « OnlyIfollows.

? % BothIand II follow.

3. % Either I or II follow.

4. % OnlyII follows.

Question Number : 20 Question Id : 9983673376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 9983673377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



How many triangles are in the figure?

Options:

1. % 1

L

? v 17

Question Number : 21 Question Id : 9983673377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R # R e 8

Options:

1. = 15
2. v 17
2w 19
4. = 20

Question Number : 22 Question Id : 9983673378 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

The average age of three friends Shyam, Vikas and Raju is 20 years. The average age of Shyam and Vikas is 19 years.
What is the age of Raju?

Options:
1. = 20 years

? 22 years

REE" 23 years

4. = 24 years

Question Number : 22 Question Id : 9983673378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 2 TR, B 3R e A st g 20 AW 71 wmw AR Rerw @ s g 19 9w 1 1
1 Ay fFaer g

Options:

1. = 203y

2. v 2239

3« 234a¥

A, = 24 9§

Question Number : 23 Question Id : 9983673379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A word given in capital letters is followed by four words. Out of these only one cannot be formed by using the letters of
the given word. Find out that word.

REHABILITATION
Options:



1. * RELATION

% % BRITTLE

3 % BRITAIN

A » BROACH

Question Number : 23 Question Id : 9983673379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T2 T A BT 71T U g & 91 9N e U v F| A W Fa UF U AT ae F ey H
IUANT FIF Aer GATAT T Hebdl g| 3H A T IaT AT

REHABILITATION
Options:

1. = RELATION

2 % BRITTLE

3. % BRITAIN

4. v+ BROACH

Question Number : 24 Question Id : 9983673380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the related word from the given alternatives.

Safe : Secure :; Protect : ?
Options:



1. « guard
? % lock
3. % sure

/. = conserve

Question Number : 24 Question Id : 9983673380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e a7 Raear # ¥ "9 e & TI99 F|
AT W o wfr : ?

Options:
1. ¢ HI&ToT

2 % §E T

Question Number : 25 Question Id : 9983673381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four figures are given out of which the three figures bear a certain common relationship. Choose the figure which is
different from others.

Options:



Question Number : 25 Question Id : 9983673381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W spiaar & a8 ¥, S @ A et F A v AT wae wey ¥ 98 a9 S e
T T T

Options:

<5

1.



Question Number : 26 Question Id : 9983673382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

INSECTS, FLEAS, FLY
Options:

Qo

2. %



3.v

Question Number : 26 Question Id : 9983673382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fi T 37 3@, *T 71T T F T A FafeaH FERT T €

Options:

.Oc

2. %



Question Number : 27 Question Id : 9983673383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

CROCKERY, CUPS, PLATES

Options:



Ble

4 v

Question Number : 27 Question Id : 9983673383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F T 39 3@, BT 71v @ F wE=aT F wEicow el = g
HihLl, T, ol

Options:



Question Number : 28 Question Id : 9983673384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘A - B” means A is mother of B, "A $§ B", A is sister of B, A (@ B’ means A is father of B and ‘A = B’ means A is
son of B.

IfR=55%0-P then how O is related to R?
Options:
1. » Daughter

? % Son

R Aunty

/. % Niece

Question Number : 28 Question Id : 9983673384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I A-BRmATA BRI ATE ASB FHTA BR agag, A@B & 5T A B =7 ®ar g,
AT A =B F T A B F I gl
IfER=35%$0-P, ar O, R & &g v #slaT 27

Options:
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Question Number : 29 Question Id : 9983673385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ram and Mohan are brothers. Shweta and Anu are sisters. Dinesh is husband of Manju, who is daughter of Manoj. Ram
is son Manoj and Anu is daughter of Dinesh. How Dinesh is is related to Shweta?

Options:
1. &« Son

? % Brother
3. « Father

/], % Brother in law

Question Number : 29 Question Id : 9983673385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH 3T A, o2 g1 93 AR 3, 7 8l Ry, A5 w 9fa € S A A O §) aE, mE
9¥ 8, AR 39, fGaw #F o 71 RS, @ar ¥ e ver s fed 27

Options:

1. % &




Question Number : 30 Question Id : 9983673386 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If ‘P * Q" means P is father of Q, ‘P % Q’, P is daughter of Q, ‘P # Q’ means P is mother of Q and ‘P = Q’ means Q is
son of P

IfM=N * 0 % R, then how R is related to M?
Options:

1. %= Brother in law

7  Daughter in law

3. % Father in law

/. % Mother in law

Question Number : 30 Question Id : 9983673386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WP+ QHFAP, QF RAME PO FFATP, QH TN, PAQ FHTP, QHA ATE,
P =Q F HTQ P F T

M+ N#0 %R, @ R M# fFe vor wafia 22

Options:

1 » FEAS/ATAEER

#*

*




SQW
4 = TH

Question Number : 31 Question Id : 9983673387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain language, BUTTER is coded as CVUUFS, BREAD is coded as CSFBE, then how COFFEE is coded?
Options:
1. + DPGGFF

? % GGDPFF

3. % GDPGFF

/. % FFDPGG

Question Number : 31 Question Id : 9983673387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s %9 s & BUTTER & CVUUFS, BREAD &I CSFBE or@r Smar %’I 34T 3 7 COFFEE '
g g forgr Fmee?
Options:

1. + DPGGFF

2 % GGDPFF



3. » GDPGFF

4. » FFDPGG

Question Number : 32 Question Id : 9983673388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code RAY is written as 450, How will be BEAT written in that code?

Options:
1. ¢ 200

3 % 100

Question Number : 32 Question Id : 9983673388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s =REa #F 7 RAY & 450 Or@r Smar g1 38 i § BEAT & &g gt o smen?

Options:

1. « 200

2 % 150

3. % 100



Question Number : 33 Question Id : 9983673389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of signs, when their positions are interchanged, will correctly solve the given mathematical
equation?

45+20-25+15=6=2.5

Options:

1 « +and=x
? % +and+
3. % +andx
4. = +and-

Question Number : 33 Question Id : 9983673389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fort 7 @ forw feg 3w A, 3@ Tufoar e s = o R wrar a1 aietor w@r & &
FTT?

45 + 20- 26 + 15 x 6 = 25
Options:

1. v + 3R x



Question Number : 34 Question Id : 9983673390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

8+4x2+5-9=0
Options:
1. = 9 and 2, + and —

? % 8and9, —and >

I

and 4, x and +

3.

and 5, +and —

t.[:.
b
()

Question Number : 34 Question Id : 9983673390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et T Rl & T # ¥ B9 g A, 39 Rufaa WER s I W e it
THERIOT TET geT gl SAT=?

8§+4x2+5-9=0
Options:

1. = 932 +3R-

2 x 8 3R, - 3R x

3. v 23R4, x 3T+



4. » 23R 5, + AKX -

Question Number : 35 Question Id : 9983673391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Twelve teams take parts in a cricket tournament. Each one has to play every other one. How many games
must they play?

Options:

1. = 44

2.« 66

Question Number : 35 Question Id : 9983673391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T feepe Tade & ang S F o T g1 Tole # YOS 3T W TF IR Qe gl 3FH b A
Tele g

Options:

1. = 44
2. v 66
3. = 67



Question Number : 36 Question Id : 9983673392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose out
the odd one.

Options:
1. = Hiss

? % Mew
3 u Neigh

4. « Mice

Question Number : 36 Question Id : 9983673392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A weg fow 1w F oed @ A7 O Yo WA g, Feafe Star e g1 wwea #oga

Options:

1 = Hiss (% )

2« Mew (FOTEF )

3. « Neigh (@wfgemen)

4. v Mice (3gT)

Question Number : 37 Question Id : 9983673393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In problem, out of four figures marked 1, 2, 3 and 4, three are similar in a certain manner. However one figure is not like
the other three. Choose the figure which is different from the rest.

Answer Fig.
1 2 3 <
Options:

1. % 1

4. v 4

Question Number : 37 Question Id : 9983673393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H, 1, 2, 3 3T 4 31T ax F"Er & ¥ 99 B 991 AT £ gt v =B, 39w 39 & 5 A
e 8 98 B g S 9w ¥ e 2

3l HTpla:

2 D €N

1 2 3 -

Options:



Question Number : 38 Question Id : 9983673394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

215,41, 80,7
Options:
1. = 105

7 % 123

3. v 132

A % 149

Question Number : 38 Question Id : 9983673394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ e g9 S g@er # weaAfEEa (?) # wEr yiawitg S
2, 15, 41, &0, ?

Options:
1. = 105
2 % 123

3 ¢ 132



4. % 149

Question Number : 39 Question Id : 9983673395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.
3, 15,7, 63,99, 143

Options:

1. = 27

!.[:.
B
L
h

Question Number : 39 Question Id : 9983673395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¢ e g9 S g@er # geafea (7) # wEr gfawwiya e
3, 15, 72 63 99 143

Options:
1. = 27
72 w 45

3. v 35



Question Number : 40 Question Id : 9983673396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

13,19,.31,49.7
Options:

1. =

LN
Lh

? % 61

4 = 79

Question Number : 40 Question Id : 9983673396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ e I S g@er # geafea (?) g Fiaitg HEm
13. 19, 31, 49, 72

Options:
1. = 55
2 w61

3 v 73



4 = 79

General Awarenessi

Group Number : 3
Group Id: 998367129
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessi

Section Id : 998367135

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367203
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983673397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The thickness of ozone layer is expressed in terms of?

Options:

1. v Dobsons
2. % ppm
3. = Fathoms
4. = Esu



Question Number : 41 Question Id : 9983673397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST W FT Al 1 fFT SRS H AT ST &7

Options:

1. v Siedd
2. » drdqiesA
3. = A
4. = g (Esu)

Question Number : 42 Question Id : 9983673398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which greenhouse gas is the most abundant among all
greenhouse gases in the atmosphere of earth?

Options:

1. = CFCs

2. = Carbondioxide
3. v Water Vapour
4. = Nitrogen gas

Question Number : 42 Question Id : 9983673398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g2dl & aTaralor # Aielg Tefr afiegsa e 7 ged =R
MNAZ3T 3 hie dT &7

Options:

1. = HIOHAT

2. = Heel SBIHFIES
3. v STerdrsy

4. = sTEcIeld 39

Question Number : 43 Question Id : 9983673399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What is India’s rank in percentage of CO 9 emission globally as

per the study of Global Carbon project in the year 2017?

Options:

1. v 4th
2. = 10th
3. » 15th
4. = 8th

Question Number : 43 Question Id : 9983673399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ay 2017 # TellaoT Floed WMoiFe & T & TR Taeg
chogﬂsﬁ?ruﬁamﬁnmﬁﬁmd Pl § TATHT W

g7

Options:

1. ¢ =i

3. % Uogad
4. » 3Hod

Question Number : 44 Question Id : 9983673400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ‘Earth Hour’ a global environmental event was initiated
by?
Options:

1. = Bio Diversity International

2. = Green Cross International

3. * World Health Organization (WHO)
4. v World Wildlife Fund (WWTF)

Question Number : 44 Question Id : 9983673400 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

diRgs TATaIoi FRIFRA '3 3T fhdS @rT % foRam I
AqT?

Options:

1. = SR ST Sclaleleld

2. % T P Slaelelel

3. » [aeg Tareew @oaa (WHO)
4, v 327 gogalg ST (WWF)

Question Number : 45 Question Id : 9983673401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the present Chief Economic Adviser to Government of
India?

Options:

1. » Kaushik Basu

2. » Raghuram Rajan

3. = Arvind Virmani

4. v Krishnamurthy Subramanian

Question Number : 45 Question Id : 9983673401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT WFN & TIAT &I IAF TAERR Fiel &7

Options:

1. = FifeR 9

2. » TEUH Tola

3. » 3N oA
4. v FUHT IATIS

Question Number : 46 Question Id : 9983673402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




ISRO has recently announced launch of satellite RISAT2 BR1.
What is the name of the launching vehicle which will be used
to launch RISATZ BR1?

Options:

1. v PSLV C-46
2. » PSLV C-48
3. = PSLV C-49
4.« PSLV (C-42

Question Number : 46 Question Id : 9983673402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SEAT o Tl 87 A U 3uaig RISAT2 BR1 & weigur i aiyom
FTI &1 RISAT2 BR1 &I dled ol & folv ST dlieddr aga
T 39T TRIT FTUIM, 3HRT ATH gl

Options:

1. v YI9gTerdr 91 -46
2. » diogUerdr @ -48
3. » YiugUedl & -49
4. » qOHUeET AT -42

Question Number : 47 Question Id : 9983673403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following was not a member of Indian cricket
team which will be playing 2019 ICC cricket world cup?

Options:

1. » Mohammad Shami
2. » Vijay Shankar

3. = Dinesh Karthik

4. v Manish Pandey



Question Number : 47 Question Id : 9983673403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFafel@a & & &I 2019 3SAET (ICC) Tohehe fdead 0 mer
TET AN Tohehe ST T TeET a1al o417

1p. « FAIGFAS eTHT
2. = oo eTe
3. = feater sIfden
4. v AN U3

Question Number : 48 Question Id : 9983673404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which animated movie won Oscar award in the category of
‘Best animated feature film” at Oscars 2018?

Options:

1. v Coco

2. = Boss Baby

3. * The Bread Winner
4. = Loving Vincent

Question Number : 48 Question Id : 9983673404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HERT 2018 F forg vfadds oA o 'Td9ss vlaAds BRI
fhea’ T 9oy A 3T TR SHAT?

Options:

1. v ShIehI
2. % Sg S§T
3. » T 8% AR

4. » Wfger fgde




Question Number : 49 Question Id : 9983673405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Mauryan emperor is known as ‘Amitraghata’
(destroyer of Foes)?

Options:

1. * Chandragupta Maurya
2. = Ashoka

3. v Bindusara

4. = Samudra Gupta

Question Number : 49 Question Id : 9983673405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forer AT @At Y ITATETS/ATETT (3 FT ATer Flal

gTell) hal ST &7

Options:

1. = <Tgared A
2. % 3TeMh

3. ¢ ﬁﬁfl‘ﬂ'

4. = OHGICA
i R

Question Number : 50 Question Id : 9983673406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which one of the following regions the Pala Dynasty was
based in India?

Options:

1. = Mysore

2. v Bengal

3. = Delhi

4. = Tamil Nadu

Question Number : 50 Question Id : 9983673406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T & ToeafallEad # O T &3 H UTel 2T T el AT?

Options:

1. = AT

2. v Tl
3. = faeell

4, = dmmmg

Question Number : 51 Question Id : 9983673407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During the reign of which Viceroy, the Indian National
Congress was founded?

Options:

1. = Lord Hardinge
2. *» Lord Lytton

3. v Lord Dufferin
4. = Lord Irwin

Question Number : 51 Question Id : 9983673407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IO TSI T hl TATHAT, ThT TR & IR &
gitrer Fr S o7

Options:

1. % ollg gIfsaT

2. = o Tolcd
3. v dis S
4.

el i
« olls gIIdd

Question Number : 52 Question Id : 9983673408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



With which revolution in India do you associate Vasudeva
Balwant Phadke?

Options:

1. » Kheda Movement

2. = Tegabha movement
3. * Bhoodan movement
4. v Ramosi movement

Question Number : 52 Question Id : 9983673408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JMSd Seldd ®5eh I TaY AN & fohq Mot & arer &7

Options:

1. = TST ETeld
2. % QITHT 3Ereled
3. = 3alel 3Tareld

4. v TANET 3Erele

Question Number : 53 Question Id : 9983673409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is not the category of a bill that is
passed in Parliament?

Options:

1. * Ordinary Bill
2. = Financial Bill
3. » Money Bill

4. v Judicial Bills

Question Number : 53 Question Id : 9983673409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafEa A @ Sia 41, @ A& 9RT 8 gt [TaTehr $r
Aol =TT &7



Options:

1. = GraRor ey
2. = Acd agw
3. » g ATk

4. v T TO9Tw

Question Number : 54 Question Id : 9983673410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Government of India had appointed Punchhi Commission
in 2007 to review and make recommendations on?

Options:

1. * Impeachment of President
2. = Panchayat elections

3. v Centre State Relation

4. = Fundamental duties

Question Number : 54 Question Id : 9983673410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HR o 2007 A ot fawr hr @arem wie 30 g
ot o ToIw geT 3Ter shr fergferr shr or?

Options:
1. = Yrsgqfa ST ABTTRATT

« OTId AT

2.
3. v g Tod &Y
4. = Hel Heled

Question Number : 55 Question Id : 9983673411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the second Chief Election Commissioner of India?

Options:

1. * Sukumar Sen



2. v KV.K.Sundaram
3. » Nagendra Singh
4. = T.Swaminathan

Question Number : 55 Question Id : 9983673411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & 8 HAET el & AFd hlel A7
ot M ot

Options:

1. » AR e
2. v F.al.F W
3. = dANlg g

4. = Y. TATHIATL

Question Number : 56 Question Id : 9983673412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The articles 25 to 28 of the Indian Constitution are associated
with which fundamental right?

Options:

1. = Cultural and educational rights
2. » Right against exploitation

3. v Right to Freedom of religion

4. = Right equality

Question Number : 56 Question Id : 9983673412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FiGeTel & 3Micsher (3o]esa) 25 & 28, v ool
HORT | 5 87

Options:

1. » GERias AR AfeTw 3faFr
2. % NNUT & T&emh 3TUR




3. v gH T TGJIAT FT ITARR
4. = ATAAT hT ATTFR

Question Number : 57 Question Id : 9983673413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which feature of the Indian constitution is borrowed or
derived from the constitution of Ireland?

Options:

1. v Method of election of President

2. = System of single citizenship
3. » The concurrent list
4. = Judicial Review

Question Number : 57 Question Id : 9983673413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ORI TTaYTeT hT hieT AT TATAT 3RS & YT & o
I & A G":-Ijr‘-la'o'l?-'?

Options:

1.%%?@@[%
2. ® Uohol oA@TIhdT hl UG
3. % gHGA! =T

4, = TR THIET

Question Number : 58 Question Id : 9983673414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many languages are recognized by the Constitution of
India?

Options:

1. = 18
2. % 30



3. % 28
4. v 22

Question Number : 58 Question Id : 9983673414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR & Giaara & fordger 9wl &Y Aedar & 5 &7

Options:

1. = 18
2. = 30
3. = 28
4., v 22

Question Number : 59 Question Id : 9983673415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The team ‘Boston Red Sox’ 1s associated with which sport?

Options:

1. = Hockey
2. = Rughy

3. v Baseball
4. = Foothall

Question Number : 59 Question Id : 9983673415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'Secel 15 Gl 1A Tord el & Gafad &7

Options:

1. = BIehT
2. % LIST
3. v Sgdiel
4.&;&3‘1‘?

Question Number : 60 Question Id : 9983673416 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which country has won the highest number of Medals at the
2010 commonwealth games held in New Delhi?

Options:

1. v Australia
2. » India

3. = Canada
4. = England

Question Number : 60 Question Id : 9983673416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2010 & &% T&eell H AT FiA«ded Tl H FATMFR Uk
for 2er & SA?

Options:

1. v 3freeferT
2. = 3f3aT
3. % Shell3T

4. « gadfs

General Awareness2

Group Number : 4
Group Id : 998367130
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General Awareness2

Section Id : 998367136

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367204
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9983673417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

First person to receive Rajiv Gandhi Khel Ratna award is:

Options:

1. «= Sachin Tendulkar
2. « Karanam Malleswari

3. v Vishwanathan Anand
4. = Geet Sethi

Question Number : 61 Question Id : 9983673417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSiig ey Fel Tee TIEHR UTST FIol dTel Tgel ST &

Options:

1. * AR dgere
2. % FUTH HAeolegdl

3. v [aegdaresT 37dg
4. % 3T VT

Question Number : 62 Question Id : 9983673418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The dance form ‘Dhamyal’ is popular in which state of India?

Options:

1. = Manipur




2. = Rajasthan
3. v Haryana
4. = Goa

Question Number : 62 Question Id : 9983673418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR & g T H §cd &7 '9AIT (Dhamyal)' oRio=r g7

Options:

1. = :Hﬁrg{
2. % {Tol€dTd

3. v ghgron
4. = INGr

Question Number : 63 Question Id : 9983673419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The folk painting ‘Kalamkari’ is popular in which state of
India?

Options:

1. » Kerala

2. v Andhra Pradesh
3. = Karnataka

4. » Tamilnadu

Question Number : 63 Question Id : 9983673419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ek RIFeholl 'SolHPRI R & hT ToF H lhuT 87

Options:

1. = el
2. v 3T uder
3. %= Shallceh




4. = AfHAE

M

Question Number : 64 Question Id : 9983673420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The famous ‘Hornbill festival’ is celebrated in which of the
following States of India?

Options:

1. ¥ Nagaland
2. = Meghalaya
3. = Assam

4, = Mizoram

Question Number : 64 Question Id : 9983673420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U8g 'lellgd g faraei@ad & O &Fg 9IRd s A

AATIT SATAT &7

Options:

1. v dAeIeIg
2. = RUTeg
3. = 3HH

4. = TASH

Question Number : 65 Question Id : 9983673421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous Orange river originates in which one of the
following countries?

Options:

1. v Lesotho

2. = Bolivia

3. = South Africa
4. » Paraguay




Question Number : 65 Question Id : 9983673421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

URE 3RS oAl Toieel # & Tohd Sor A fUd 87

Options:

1. v olaren

2. = Frelraar

3. = GI&IUT 37ThiehT
4. « TET (W)

Question Number : 66 Question Id : 9983673422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state is the Andhra Hydroelectric project located in
India?

Options:

1. = Andhra Pradesh
2. = Punjab

3. v Himachal Pradesh
4. = Telangana

Question Number : 66 Question Id : 9983673422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H 3y STafdedd aRASE fhd s 7 Fud &7

Options:

1. = 37 el
2. * OolTd

3. v oA waer
4. = JAeAT

Question Number : 67 Question Id : 9983673423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which mountain range the ‘Siachen’ glacier is located?




Options:

1. v Karakoram range

2. * The Himalayan range

3. = The Purvanchal range

4. = The Satpura and Vindhya range

Question Number : 67 Question Id : 9983673423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR TR fhe 9ad s@er # &ud g7

Options:

1. v SRHRHA HEel
* ToATerIeT e

2.
3. % qdldel A&l
4.

o,

* FAYsT AT faed s

Question Number : 68 Question Id : 9983673424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following plans aimed at improving the
standard of living?

Options:

1. = Sixth Plan
2. » Fifth Plan
3. v Fourth Plan
4. = Third Plan

Question Number : 68 Question Id : 9983673424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafeli@d A @ et A7 Al Slael T # U ol &
30T O o] HI S &7

Options:

1. « BST Jietal




2. % Tl Jrelall
3. v T AT
4. = LT AT

Question Number : 69 Question Id : 9983673425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the basic objective of Twenty Point Program (TPP)
initiated by Government of India?

Options:

1. ¥ To eradicate poverty and raise standard of living

2. = To restructure government schools

3. = To eradicate dreadful diseases on war-footing

4. = To promote afforestation and control global warming

Question Number : 69 Question Id : 9983673425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT WFN @R IF fhT a0 S T FRIFA (TPP) FT e
30T AT AT?

Options:

1. v 36T 3edple 3 Siiged O HT I 33T

2. » LRR {—cp\@i‘i ] gdd?éd
3. = ¥Teleh SATATIAT hi THTA & Tolv PE-FR I HIH FIl
4. » ToIThIUT hT STAT SolT 3T Telleel ATfAdl hl TaITad FaT

Question Number : 70 Question Id : 9983673426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year the EXIM bank (Exports Imports Bank)
established by government of India had started its operations?

Options:

1. » 1966




2. % 1952
3.+~ 1982
4, = 1972

Question Number : 70 Question Id : 9983673426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HNT TR SaRT ¥ EXIM ek (TRHUIcH SFIICH sfeh)
forg av & & g3 am?

Options:

1. = 1966
2. = 19582
3. v 1982
4. = 1972

Question Number : 71 Question Id : 9983673427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The wave length range of Ultra violet rays is?

Options:

1. v 100 to 400 nanometers

2. * 400 to 1000 nanometers
3. * 1000 to 1500 nanometers
4. = 1500 to 2000 nanometers

Question Number : 71 Question Id : 9983673427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el Tele ToRION hl dLITCEd HIAT Tohdal &l &7

Options:

1. v 100 & 400 serdAeT
2. = 400 & 1000 o«iI#AECT
3. = 1000 & 1500 ai=it#AEY




4. = 1500 & 2000 «=IARCT

Question Number : 72 Question Id : 9983673428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The drug Reserpine is used to treat which one of the following
diseases?

Options:

1. = Dengue

2. » Leukaemia

3. v High Blood pressure
4. = Kidney stones

Question Number : 72 Question Id : 9983673428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RETOe S gar &1 39T faeaT # @ oo AR & olrel
F forw R Srar &7

Options:

1. = 89[

o,
2. % Fgé:‘iﬁm
3. v 3Td TFddrd

4. = Thrgal Tl

Question Number : 73 Question Id : 9983673429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The class of drugs used for treatment of mental stress and
disorders are called?

Options:

1. = Antihistamines
2. v Tranquilizers
3. = Sulpha drugs
4. = Antiseptics



Question Number : 73 Question Id : 9983673429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 8h deatg T [ThRT & 3U9R & TolT 3UANET hT SATeT grel
Zar3il & g9 T T A1 O AT ST AT §7

Options:

1 e N e

SR FA LT TAPII XS

2. v ClFgelgeld
3. « oWl 399
4. = wirdes

Question Number : 74 Question Id : 9983673430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What the number of facial bones in adult human skull?

Options:

1. %8
2. % 22
3.v14
4, % 12

Question Number : 74 Question Id : 9983673430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gITh HATeld TISr # Iy I &f3sa hr g&ar hder adar §7

Options:

1. = &
2. % 22
3. v 14
4. = 12

Question Number : 75 Question Id : 9983673431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Scientists from which university have claimed discovery of
PFTBA (Perfluorotributylamine), a greenhouse gas which is
7100 times more potent that Carbon dicxide in the year 2015?

Options:

1. v University of Toronto
2. = MIT

3. » Oxford University

4. = Kentucky University.

Question Number : 75 Question Id : 9983673431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2015 # forg Tawafagarera & daifaenl o, e sE3iieass &
7100 aretr 31fereh rfefcremmelr afetarsd 34, PFTBA

(eI ETFeICTS ol dla) T Tlel T rar fohar?

Options:

1. v IR Toeafaeare™

2. % UH3ECr
3. = 3iEWIS Tdealdedrer
4. » heehl Tdedaidererd

Question Number : 76 Question Id : 9983673432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of India’s first indigenously bulilt air craft
carrier?

Options:

1. v INS Vikrant
2. » INS Shakti
3. = INS Vijay
4. = INS Garuda




Question Number : 76 Question Id : 9983673432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T o Ugel Tacel AfAd [9AT ags (TIX it FRAT) AT

STH T &7

Options:

1. v 3Mevaeq A
2. % 3eUa0q elidhd

3. = 3EUATH A<Td

4, = HSUATH %3

Question Number : 77 Question Id : 9983673433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The world’s first Green helicopter which is noise-less and
emission-free was successfully tested in which country in
20137

Options:

1. = India

2. » Australia
3. v Germany
4. = Russia

Question Number : 77 Question Id : 9983673433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gferar & ugel aflel gollshite Si QNT-eRTET IEe 3 Schoia-
HFd &, 1 2013 # Tohe 2o & Fheldrqdeh qdieror foram
AqT?

Options:

1. » 34T
2. = 3jeeforT
3. v SHaAT




4. = ®F

Question Number : 78 Question Id : 9983673434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What is the full form of the UNCTAD, an organization under
UNO which promotes the development-friendly integration of
developing countries into the world economy?

Options:

1. = United Nations Commission of Trade and Development
2. = United Nations Congress on Trade and Development

3. v United Nations Conference on Trade and Development

4. = United Nations Conference on Trade and Disinvestment

Question Number : 78 Question Id : 9983673434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UNO & d&d 3Ta arell T Halad, UNCTAD, St a2
srefeaaear # faameiiel 3ot & Tash & 37ofehol UehThdoT

SQTaT T &, ST YT ATH T 87

Options:

1. % oIS AA%AeT AR 3H ¢85 US STeITHC

2. = Fell3<s ¢l FEI el ¢85 US SqeuHC

3. v Yollgds A Flehled 3ol ¢35 US STelUHC

4. » FeII3<s oA Fledled 3ol ¢S5 Us fSHgATcAC

Question Number : 79 Question Id : 9983673435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarters of ICRISAT (International Crop
Research Institute for Semi-Arid Tropics) located?

Options:

1. » Banglore, India

2. = Colombo, Sri Lanka



3. = Geneva, Switzerland
4. v Hyderabad, India

Question Number : 79 Question Id : 9983673435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ICRISAT (37€ ooeh &1a1 & ToIT 3TcRisd Wl e

HEATeT) T AGATeT hel [Ford &7

Options:

1. = ST, IR
2. % hiesr, SiTolehl
3. » [o=lar, TacaTels
4, v &S, A

Question Number : 80 Question Id : 9983673436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year, the International Red Cross Society was
founded?

Options:

1. = 1963
2. v 1863
3. %1943
4. = 1933

Question Number : 80 Question Id : 9983673436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

$eTaielelel I8 g TAECT HT T foha af & g5 417

Options:

1. = 1963
2. v 1863
3. = 1943




4. = 1933

Arithmetic Ability1
Group Number : 5
Group Id: 998367131
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 998367137
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367205
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983673437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If x + v = 45 and xy = 135, what is the value of xZ + y2?
Options:
1. % 1750

7P @ 1755

3. % 1650



A % 1655

Question Number : 81 Question Id : 9983673437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg x +y =453 xy =135 @ x2 + y2 7 AT 9T FL?

Options:

1 % 1750
2. v 1755
3 % 1650
A x 1655

Question Number : 82 Question Id : 9983673438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4a% 44

e Sy |
6aZ+10a+6

If a+ i = 4, then

Options:

1. =

o | @

i
r.nl‘““‘

2. %

:g,uf 17



Question Number : 82 Question Id : 9983673438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I[ﬁ'a—l———ﬁl%' ar —— da’+d 9ar 17

6al+10a+6

Options:

1. = 1s

Question Number : 83 Question Id : 9983673439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[(1680?‘ +49)s+ (14641 +11%)=+ (867 + ¥ 2?)5] = +/x . Find the value of x.
Options:

1. % 225
7 @ 1225

3 % 2025

Question Number : 83 Question Id : 9983673439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[(1680? 49)a+(14641—112)z+(86? F)] Vx. x T HF 94T FL



Options:

1 % 225
2. v 1225
3 % 2025
A4 % 625

Question Number : 84 Question Id : 9983673440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man spends % of his income on house rent, 2—2 of income on food and % of income on conveyance. If he
has ¥ 5600 left with him, find his expenditure on food and conveyance taken together.

Options:

1. = 75000

7 % 76050
3 % 74045

4, v 75040

Question Number : 84 Question Id : 9983673440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e T e F - farw W& e W, frrwr e Wik fewar gfeemsdt @ aar
g1 afg 8% I8 3T FIer T 5600 T §, A I < fah FES @ AR ghawnstt w For foaer = G

Options:



1. =« 75000

2« 76050
3. % 74045
4. « 75040

Question Number : 85 Question Id : 9983673441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vx+0.28 =+/16.81. Find the value of x .
Options:
1 = 14.5294

7 % 13.5924

3.« 145924

A = 13.5204

Question Number : 85 Question Id : 9983673441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jx+0.28=+16.81, x &I AT IaT FI

Options:

1. = 14.5294




2 % 135924
3. v 145924

4. % 13.5294

Question Number : 86 Question Id : 9983673442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y —X
If 4.5x = 0.12y, then find the value of —.

¥4

Options:
7T

1. % 73

73

T4

3. % 76

76

4. % 74

Question Number : 86 Question Id : 9983673442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¥—x .
afg 45x=0.12y8, A Y= W A 9T H

A

X

Options:
77

1. = 73



73

74

76

4. = 74

Question Number : 87 Question Id : 9983673443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

0.2x0.3x0.5x0.7 _ 9
210 )
Options:
1
1, & g1
? % 81
1

Question Number : 87 Question Id : 9983673443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gel FL

?

0.2x0.3x0.5x0.7 L
210

Options:



Question Number : 88 Question Id : 9983673444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Add the following and find the square root of the sum of the digits of the answer of addition.
2019= + 20192 + 2019> + 20192 + 20192 + 20192+ 2019~
7 7 7 7 7 7 7

Options:

1. % 3

2.v 4

Question Number : 88 Question Id : 9983673444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fafeaf@a #F S 3R ST = F a1 9T g8 FEA F AHH F FHST A F

20192 + 20192 + 20193 + 20192 + 20192 + 20192+ 2019~
T T 7 T 7 i 7

Options:



Question Number : 89 Question Id : 9983673445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g th of an iron rod is in the mud. When a further one-fifth of the rod is pulled out, 5.1 m of the rod is still in the mud.

Find the full length of the rod in cm.

Options:
1. = 11

7 % 1100

3. % 12

4.« 1200

Question Number : 89 Question Id : 9983673445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

c‘»ﬂ?@rzﬁmgafmﬁagﬁﬁlﬁﬁ,mmmmmmﬁmﬁmﬁ,ﬁsﬁmm
51 m fe=ar F=r3 & war g1 o3 H ¢ T (cm H) T FL

Options:

1. = 11




2 % 1100

4. « 1200

Question Number : 90 Question Id : 9983673446 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
If the fractions ? ,% : ? ,g : % are arranged in the ascending order of their values, then which one will be the third-
largest fraction ?J )
Options:
7

1.¢ o

[ |p
ad

o

2. %

3 % 1

L]

17

4 % 18

Question Number : 90 Question Id : 9983673446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe 22 2722 3t @ 3RS &8 H coaflyg BFar S, G gar ¢ & sad © i ar e S

45’18"'15"'9" 10
TEH F57T 3 gEm?
Options:

7
1. ¢ o



13

17

Question Number : 91 Question Id : 9983673447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many numbers less than 20000 are there that are divisible by 56, 84 and112?

Options:
1. v

wn
o

? % 60

LAl
i
L
(s]

!.[:.
8
L |
=]

Question Number : 91 Question Id : 9983673447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20000 ¥ FF OO fraet gEare §, e 56, 84 3T 112 & fenfara f&ar o goar B2

Options:

1. ¢ 59

2 = 60



Question Number : 92 Question Id : 9983673448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the least multiple of 14 that leaves a remainder of 4 when divided by 12, 18, 30 and 36?
Options:
1. = 378

7 % 350

3. v 364

A % 168

Question Number : 92 Question Id : 9983673448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S8 @ Hia 14 F1 T oler U § 5@ 12,18,30 3k 36 & fasnfog & ¥ 9w 4 F9ar 22

Options:

1. « 378

2w 350

3. v 364



4. % 168

Question Number : 93 Question Id : 9983673449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of two numbers is 1260. Their HCF is 70. How many pairs of such numbers are possible?

Options:

1. = 1

I

2. %

3. % 4

4 v 3

Question Number : 93 Question Id : 9983673449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar TEITHT FT AT 1260 Bl 3AST Hgcad® TS 70 g1 UOr geuat F o e T 27

Options:

Question Number : 94 Question Id : 9983673450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In an ICSE Class X examination of a particular school, the number of those who passed was four times the number of
those who failed. If there had been ten fewer candidates and five more had failed, the ratio of the passed to the failed
students would have been 3 : 2. Then the original total number of students who appeared for the exam was:

Options:
1. = 60

2.v 4

3 % 75

4 = 90

Question Number : 94 Question Id : 9983673450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v 9w T @ AR.HLTES. (ICSE) gwar Fam & T H, 3o gl JTar S HEAT Heedior et
3Tl H FET ¥ GR I off| A T g8 HA 3FAEER g AR 9 AR e @ S|, ar e,
HFeATOT ST T A’ 3 ¢ 2 @ STl A ST F S Aot H{e ol # Ho §EAT I H7

Options:

1. = 60
2. v 45
3 = 75
4. = 90

Question Number : 95 Question Id : 9983673451 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The ratio of the present ages of Krishna and Ram is 7 : 5. If the product of their present ages (in years) is 1260, then find
Krishna's age after 15 years.

Options:



Question Number : 95 Question Id : 9983673451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FUT AR TH H TAAA G F AT 7 1 5 1 T IAH FAAA HY HT 3ed1e (ISt H) 1260 7, A
15 a¥ &g FEUT H Y TaT F

Options:

1. v 57
7w 42
3 = 67
4. = 65

Question Number : 96 Question Id : 9983673452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bag contains 160 orange balls, 100 pink balls and 90 green balls. 25% of the orange balls and 40% of the pink balls
are taken away. Then the percentage of green balls present in the bag is:

Options:
1. & 40%



Question Number : 96 Question Id : 9983673452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v o # 160 AREM, 100 F[omr T 90 7Y T A A F1 25% AR HIT 40% I[emar IS P AT
fereprer form e B1 & S & HAisg @7 T F7 I # faeud 99 H1?

Options:
1. % 40%
2 % 25%

1y
3« 663;‘5}

1,
4 o 333 Yo

Question Number : 97 Question Id : 9983673453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in the place of the question mark (?) so that it satisfies equality of the given equation?

64% of 1500 =?
Options:
1. ® 46% of 1200



7 % 66% of 1400

3 % 98% of 1000

A« 75% of 1280

Question Number : 97 Question Id : 9983673453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TARIES (?) F TS W AT A= AT 5 w0 F FAEgeaar B g w?
1500 T 64% = ?
Options:

1. % 1200 & 46%

2 % 1400 T 66%

3. % 1000 FT 98%

4. v 1280 7T 75%

Question Number : 98 Question Id : 9983673454 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Sita’s expenditure and saving are in the ratio of 7 : 5. If her income increases by 15% and expenditure by 18%, then by
how much percent would her saving increase?

Options:
1. & 10%

7« 10.8%



3 % 9%

4 = 9.8%

Question Number : 98 Question Id : 9983673454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hrar & T A F9F #3970 5§ IS 3w A H 15% Fr gy @ ¥ A w7 18% H
I 2 &, & 9 Y T sEey sua & Rhae g # gie @i

Options:

1. = 10%

2« 10.8%

2o 9%

4. % 9.8%

Question Number : 99 Question Id : 9983673455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five years ago, the average age of a family of 10 members was 54 years. The present average age is also 54 years, but
after the inclusion of a child into the family. Find the age of the child.

Options:
1. = S Yyears

7 % 8 years

REE" 6 years



4 v 4 years

Question Number : 99 Question Id : 9983673455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofe 3§ 9@, 10 FEEAT e qiar @ Hua 3y 54 I¥ off) IAAE # 9RER A v F=2 F afEe @
% o o AT g 54 AT g T T 3 I H

Options:
1« 5@
2 % 8@
3.« 6@
4, v 4T

Question Number : 100 Question 1d : 9983673456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A car reached Hyderabad from Secunderabad in 55 min with an average speed of 60 kmph. If the average speed is
increased by 40 kmph, how much time will it take to cover the same distance?

Options:

1. ®« 23 min

? % 43 min

3.« 33 min

4 % 13 min

Question Number : 100 Question Id : 9983673456 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

T FR 60 kmph Hr FFT 7T & 55 Bee # Bhegae ¥ gexere 9g e g1 I e i
40 kmph 5T ST &, & TAS g1 # 97 T H Faar T FEEm?

Options:

1. = 23 min

2 % 43 min

3 ¢ 33 min

4. % 13 min

Arithmetic Ability?2

Group Number : 6

Group Id: 998367132

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithmetic Ability?2

Section Id : 998367138
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 998367206
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983673457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The cost price of 18 pens is equal to the selling price of 22 pens. Find the profit or loss percentage.
Options:

1 = l?i%loss
> 18=% profit
3 v lﬂi%loss

1 « 17=% profit

Question Number : 101 Question Id : 9983673457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

18 T & W H{pd HR 22 9= 7 fochr Hoa s g1 oMeT a1 iy Fioerd oar #|

Options:

1 1’;%% e
5w lBi% STST
3 v lﬁi% HIGH

i
4. . 1?11;{3 EIE]



Question Number : 102 Question Id : 9983673458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man bought apples at the rate of 16 for T 68 and sold them at the rate of 20 for ¥ 95. How many apples should be sold
to earn a net profit of ¥ 607?

Options:
1. = 100

7« 120

3 % 140

A % 130

Question Number : 102 Question Id : 9983673458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HEHT T 68 H 16 HT T F AT TS ¢ HR I T95 H 20 F W F I £l IW T 60 W Y
T FAS & Tow ras o9 39+ e

Options:
1 % 100
2. v 120
3. % 140
4. % 130

Question Number : 103 Question Id : 9983673459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Somnath sold two mobile phones for € 12,740 each, one at 40% profit and the other at 20% loss. His gain or loss
percentage in the entire transaction is:

Options:



1. % 1% loss

2 x 1% gain

3. % 1.81% loss

4] « 1.81% gain

Question Number : 103 Question Id : 9983673459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ty A i Wi 212,740 F frare @ o HewS W 99, 37 T BT R 40% o g7 AR g
W 20% B g5 38 W g T T o I @ v gfewra gar w2

Options:

1. = 1% &

2 ow 1% @mH

3« 1.81% Fifer

4. «» 1.81% =H

Question Number : 104 Question Id : 9983673460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The cost price of an article is T 4,800. After allowing a discount of 20%, a gain of 25% was made.
Find the marked price.

Options:
1. = 7.000



9w 6.000

4. = 5.800

Question Number : 104 Question Id : 9983673460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UE TG H AT Hed T 4,800 71 20% T TT A W, 25% F W0 gam g1 A Hea gar Y

Options:

1 % 7,000
2« 6,000
3 o 7,500
4 % 5,800

Question Number : 105 Question Id : 9983673461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In order that there may be a profit of 40% after allowing a discount of 20% on the marked price, how much percentage
should the marked price be above the cost price?

Options:
1. = 40%

P % 45%



3 v 75%

A = 60%

Question Number : 105 Question Id : 9983673461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE HIET H HhaT 75T W 20% T & W 40% F AT & T &, I H F #ea 7eg, aee
Aea | foraer gfoera sfoe g =nfge?

Options:
1. = 40%
2 % 45%
3. v 75%
A % 60%

Question Number : 106 Question Id : 9983673462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At simple interest, a sum of money become 5 times the principal in 40 years. Find the rate percent.
Options:
1. « 10

? % 20

3 = 30



4 = 40

Question Number : 106 Question Id : 9983673462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FIURUT S TR, T AfRad AR 40 st F FA7US & 5 o7 & A1 g1 & o Iar H

Options:

1. v 10
2 x 20
3. = 30
4 = 40

Question Number : 107 Question Id : 9983673463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At simple interest, a sum of money becomes 5 times in 16 years. In how many years would the
sum become 11 times of it?

Options:
1. = 20

? % 30

3 % 10

4. v 40

Question Number : 107 Question Id : 9983673463 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
TIIROT 201 T, T& fAfeaa uffr 16 ast 7 5 =7 g =y &1 & gar ¥ & foraer ast & afdr 11 3@
2 T

Options:

1. = 20
2 = 30
3 = 10
4, v 40

Question Number : 108 Question Id : 9983673464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper borrowed < 50, 000 for 2 years from two different banks and with different simple interest rates. The
difference between the simple interests of the two banks is T 250. Find the difference between the rate percentages?

Options:
1. v 0.25%

3. % 0.75%

4 = 1%

Question Number : 108 Question Id : 9983673464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF GHFAGR o &l IeIET-HTT del  IHeeT-300T HIUR0T &0 & W 2 ¥ & v T50,000 &7 HoT
foraT) ST S & WTUROT ST &3 &F S & AT T 250 g1 T Ifaed & €9 {a¥ 941 #1?

Options:



1. v 0.25%

2 % 05%
3 % 0.75%
4 = 1%

Question Number : 109 Question Id : 9983673465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man borrowed ¥ 2,500 from a bank at 20% per annum. In how many years the sum would become ¥ 4,320 if the
interest is compounded annually?

Options:
1. = 2 years

7 x 4years

3 x Oyears

4 v 3 years

Question Number : 109 Question Id : 9983673465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF FEH o TF 3F ¥ 20% #r ¥ 2T & 2,500 Fr %or o of = s & & sofem &,
ar foraer aut & ofdr 4,320 g smo=h?

Options:

1. = 23



2w 4 9\

3.« 6@

Question Number : 110 Question Id : 9983673466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Suman borrowed ¥ 40,000 from a money lender at 10% p.a for the 15 year and 20% p.a for the gnd

compound interest after 2 years if the interest is compounded annually.

year. Find the

Options:
1. v 12800

7 % 12400

3. % 6400

A % 6000

Question Number : 110 Question Id : 9983673466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gAA & Tge a9 & fAT 10% F aifde e AR gy ¥ F fAav 20% & a1f%F T & v AR @
¥ 40,000 &1 FHoT T I e e w9 § wEET R, O 2 99 & a1 T THgiE @ 99

Options:

1. « 12800

2 % 12400



3. % 6400

4. % 6000

Question Number : 111 Question Id : 9983673467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The altitude of an equilateral triangle is 16+/3 cm. Find its perimeter.
Options:
1. % 960cm

7 % 9600 cm
3 « 9%cm

4 = 0.96cm

Question Number : 111 Question Id : 9983673467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T THETE Rl #F 598 16v3em ¥ gEHT IR Tar H

Options:

1. = 960 cm

7 % 9600 cm

3. ¢ 96 cm



4 = 0.96 cm

Question Number : 112 Question Id : 9983673468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The equal sides and the base of an isosceles triangle are 40 cm and 48 cm respectively. Find its area (in sq.cm)?
Options:
1. = 758

3.« 768

A % 868

Question Number : 112 Question Id : 9983673468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THEfaETg s H7 aE T HR IR A 40 cm HR 48 cm g
SHT &% (sg.cm H) IaT H1?

Options:

1. = 758
2 % 3072
3. v 768

4. % 868



Question Number : 113 Question Id : 9983673469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A large solid metallic cylinder whose radius and height are equal to each other is to be melted and 162 identical solid
balls are to be recast from the liquid metal so formed. What is the ratio of the radius of a ball to the radius of the
cylinder?

Options:
1. = 4:1

? % 1:4

3 % 6:1

1« 1:6

Question Number : 113 Question Id : 9983673469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aTq F UF 31 3 sy, e e 3R R e gt & e 2 39 Rreemar S g sk R
g5 ug @ 162 WAW 3 Mo sa 1 g F e 3R RS & B &7 s aar w10

Options:

1. = 4:1
2 = 1:4
3 = 6:1
4, v 1:6

Question Number : 114 Question Id : 9983673470 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

P can finish a certain work in the same time in which Q and R together can finish it. If P and Q together could finish the
work in 20 days and R alone in 100 days, Q alone can finish the work in:



Options:
1. %= 30days

2 % 40days

3  S0days

4. = ©60days

Question Number : 114 Question Id : 9983673470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P # s Affag &1 &1 [ #3597 & TFET 79T g Far Q 3R R F Feww w7 F @
F H oeTd gl e P AR Q T |y et s @ 20 oA 7 AR R smker 100 feAt & @ aw
TR &, O T W F Q F IS I W RS F A B e

Options:

1. = 30 =

7w 40 fe=

3. v 50T

4. = 60 =

Question Number : 115 Question Id : 9983673471 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Ramya can finish a work in 48 days, Pooja in 18 days and Sudha in 24 days. Both Pooja and Sudha started the work but
left after 6 days. Then Ramya came in. The remaining work will be completed by Ramya in days.

Options:



1. = 10

4. v 20

Question Number : 115 Question Id : 9983673471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U FE H 48 feAr A, qer 18 feAt 7 AR gur 24 RE #F qU Fw wwdr g1 9= AR gur gt

mamm%aﬁmaﬁﬁmmmaﬁ%lﬁﬂmm%lmwmaﬁ =G
maﬁri

Options:

1. = 10

2 = 15

3 x 25

4, v 20

Question Number : 116 Question Id : 9983673472 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The distance between Hyderabad and Shimla is 1998 km. A car leaves Hyderabad at 6 am and runs at an average speed
of 111 km/h. The car stops on the way for 2 hr. 20 minutes. It would reach Shimla at:

Options:

1. % 1:20 a.m. next day



7 % 10:00 p.m. same day
3« 2:20 am. next day

4. % 11:20 p.m. same day

Question Number : 116 Question Id : 9983673472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gevrare AR Rrwer & @ Fr gfr 1998 km ¥ TF FR Fag 6 a1 gedrag @ et € 3 111 kmih
#r sffea oy & Ted ¥ FR TR # 2 5 20 fAee & v w81 A 9o R B wR Rwer Fw ageet

Options:

1« mﬁﬁgagmnaﬁr

2. x 34 &F T 10:00 s

3 v mﬁﬁgﬁz:zoaﬁ

4. = 3T w9 11:20 /=1

Question Number : 117 Question Id : 9983673473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train running at 9/1 1t of its own speed reached Kolkata in 66 hours. How much time could be saved if the train
would have run at its own speed?

Options:

1. = 66 hours

? % 54 hours



3.« 12 hours

4. % 10 hours

Question Number : 117 Question Id : 9983673473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T IME HIAT afy F 9/11 %ﬁ#?ﬁﬁﬁ?ﬁ%}ﬁ?eedﬁﬁm@?ﬁ%wﬁrw@m
Ifd ¥ IordT oF BFaar 59T 9T ST Hhar Or?

Options:
1 % 669
2 % 54 EE
3. v 128
4.« 10 9

Question Number : 118 Question Id : 9983673474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pavan and Mohan started for Bangalore, Pavan by motor cycle and Mohan by car. The speed of the motor cycle is 60
kmph and that of the car is 80 kmph. Pavan takes 12 hour 4 minutes to reach the destination. How long would Mohan
take to reach the destination?

Options:
1. = 7.75hr

? « 9.05hr

3 % 8.05hr



A % 875hr

Question Number : 118 Question Id : 9983673474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g9 HT A S # AT T € 997 A asfEe ¥ Far € Ak A S ) A\ gt
7Ifer 60 kmph & 3R &R #r 17T 80 kmph 1 9o F AfFS I TgEA F 12 w4 e e E1 ogan
ﬁ%mﬁﬁﬁﬁﬂaﬁq@ﬁﬁmmw

Options:
1. % 7.75 hr
2 » 9.05 hr
3. % 8.05 hr
4. % 8.75 hr

Question Number : 119 Question Id : 9983673475 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 WrongMarks: 0.25

The table given below shows the number of executive chairs sold by five showrooms during the years 2011-2015.
Answer the question based on the information given in the table:

Years'show| P Q R S T
room

2011 366 | 246 | 554 | 334 | 356
2012 356 | 544 | 538 | 190 | 758
2013 266 | 322 | 452 | 352 | 478
2014 528 | 214 | 474 | 450 | 564
2015 556 | 544 | 426 | 568 | 586

The executive chairs sold by the showrooms T & Q in 2013 was what percentage less (correct up to two places of
decimal) when compared to the executive chairs sold by the showroom Q in 2012 & 20157

Options:



1. % 25.47%

Y @ 26.47%

4, % 24.67%

Question Number : 119 Question Id : 9983673475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

rr & 1% afeeer 2011-2015 & Rt o9 AT g 4= 1% wesiFgied o & §EAT g g
arferRT H & T FHFNT & MU 9T 997 F 3o} &

arefeesd| P Q R S T

2011 366 | 246 | 554 | 334 | 356
2012 356 | 544 | 538 | 190 | 758
2013 266 | 322 | 452 | 352 | 478
2014 528 | 214 | 474 | 450 | s64
2015 556 | S44 | 426 | 568 | 586

2013 & oF T 3T Q gamr &= 712 vty Fiaar #F dwar 2012 3K 2015 § Q o ganr &=
TS TESEged HiaAr fr HEAT H Jo 7 o Jiaud (GaHeE & & T 9 §E) 4 o6

Options:

1. = 25.47%

2. v 2647%

3. % 2457%

4. % 24.67%



Question Number : 120 Question Id : 9983673476 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The table given below shows the number of executive chairs sold by six showrooms during the years 2011-2015.
Answer the question based on the information given in the table:

Years/show P Q R 5 T u
room

2011 366 246 554 334 356 474
2012 356 544 538 190 758 39
2013 266 322 452 352 478 5354
2014 328 214 474 450 564 474
2015 356 544 426 368 586 392

What is the average number (correct up to two places of decimal) of executive chairs sold in 2014 by all the showrooms
taken together?

Options:
1. v 450.67

7 % 460.11

Question Number : 120 Question Id : 9983673476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sfrer & 1S arferer 2011-2015 & R OF AT gaRT 3= 72 TeSEdied Hradr B HEAT ST ¢
arferesr # & TS SR & UR 9 99T # 3ecR &

— P Q R 8 | T u
T

2011 366 | 246 | s54 | 338 | 336 | a4
2012 356 | 544 | sz | 190 | 758 | 39
2013 266 322 452 352 478 | 354
2014 sa8 | 214 | ama | as0 | ses | 474
2015 556 | s44 | 426 | sez | ses | 3e

2014 # |efr oNTHAT A A= 7% weShEgfea HEA #F MdiEa FE (GuHAEE F & T 9% HeY) T B2



Options:

1. « 450.67
2« 460.11
3 % 352.11
A % 44766
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Question Number : 121 Question 1d : 9983673477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

From where we stood we could see the course of the river as
it wound its way through the green fields and valleys.

Options:

1. » generous
2. » sterile
3. v fertile
4. = harsh

Question Number : 121 Question 1d : 9983673477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

From where we stood we could see the course of the river
as It wound its way through the green fields and

valleys.

Options:

1. *= generous
2. = sterile
3. v fertile
4. = harsh

Question Number : 122 Question Id : 9983673478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate word.

The sole survivor of the ghastly was a young boy.

Options:

1. v catastrophe
2. = fortune

3. = eventuality
4. = putcome

Question Number : 122 Question Id : 9983673478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

The sole survivor of the ghastly was a young boy.

Options:

1. v catastrophe
2. = fortune
3. = eventuality

4. = outcome

Question Number : 123 Question Id : 9983673479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

Siddhartha was about the result of his examination as
he felt he had not done his Physics examination well.

Options:

1. = confident
2. % gssertive



3. # hesitant
4. v apprehensive

Question Number : 123 Question Id : 9983673479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

Siddhartha was about the result of his examination

as he felt he had not done his Physics examination well.

Options:

1. = confident
2. % assertive
3. = hesitant

4, v apprehensive

Question Number : 124 Question 1d : 9983673480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

At first, no one thought that Helen Keller would be of
learning anything.

Options:

1. = skillful
2. % competent
3. = proficient
4. v capable

Question Number : 124 Question 1d : 9983673480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate word.

At first, no one thought that Helen Keller would be

of learning anything.
Options:

1. = skillful

2. = competent
3. = proficient
4. v capable

Question Number : 125 Question Id : 9983673481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct meaning of the idiom given:

To lose face

Options:

1. = not be able to go out frequently
2. v become less respected by others
3. * become less friendly and sociable
4. = be able to win against your rival

Question Number : 125 Question Id : 9983673481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct meaning of the idiom given:

To lose face

Options:

1. = not be able to go out frequently



2. v become less respected by others
3. = become less friendly and sociable

4, = be able to win against your rival

Question Number : 126 Question Id : 9983673482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

We had to call plumber to repair leaking tap In
kitchen.

Options:

1. = a,the.a
2. = an, the, a
3. v a, the, the
4. = the, an, a

Question Number : 126 Question Id : 9983673482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

We had to call plumber to repair leaking tap
In kitchen.
Options:

1. = a , the ,a
2. % an, the, a
3. v a , the, the
4. = the, an, a

Question Number : 127 Question Id : 9983673483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

Vivek said, “I just want new laptop, doesn’t
matter which one.”

Options:

1. = the, this
2. = g, that
3. = an, this
4, v a, it

Question Number : 127 Question Id : 9983673483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Vivek said, “l just want new laptop, doesn’t

matter which one.”

Options:

1. = the, this
2. * a, that
3. = an, this

4. v a, It

Question Number : 128 Question Id : 9983673484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The family is right now going a bad time.

Options:

1. = In



2. v through
3. % 0N
4. = across

Question Number : 128 Question Id : 9983673484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The family 1s right now going a bad time.

Options:

1. = In
2. v through
3. # on
4. % across

Question Number : 129 Question Id : 9983673485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Gita met officer at party her friend’s house.

Options:

1. = the, a, on
2. = g, the, in

3. v an, the, at
4, = an, an, at

Question Number : 129 Question Id : 9983673485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

Gita met officer at party her friend’s

house.

Options:

1. = the, a, on
2. = a, the, In

3. v an, the, at
4. = an, an, at

Question Number : 130 Question Id : 9983673486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

My aunt told me that after her accident she only walk
using a stick.

Options:

1. * may
2. % can
3. % can’t
4. v could

Question Number : 130 Question Id : 9983673486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

My aunt told me that after her accident she only

walk using a stick.

Options:



1. * may
2. ® can

3. * cant
4. v could

Question Number : 131 Question Id : 9983673487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The cashier asked him to sign again, ?

Options:

1. v didn’t he
2. » he did
3. = did he
4. = isn’t it

Question Number : 131 Question Id : 9983673487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the grammatically correct option to fill in the blanks.

The cashier asked him to sign again, 7

Options:

1. v didnt he
2. * he did
3. = did he
4. = Isnt it

Question Number : 132 Question 1d : 9983673488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

One of the two girls in the picture my sister.

Options:

1. = be

2. v 18

3. % are
4. = were

Question Number : 132 Question Id : 9983673488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

One of the two girls In the picture my sister.

Options:

1. = be
2. ¢ IS
3. % are

4. = were

Question Number : 133 Question Id : 9983673489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The number of malls in this locality increased since last
year.

Options:

1. v has
2. = had



3. = have
4. = were

Question Number : 133 Question Id : 9983673489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The number of malls in this locality Increased since

last year.

Options:

1. v has
2. * had
3. = have

4. = were

Question Number : 134 Question 1d : 9983673490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

You seem to have a collection of books than I have.

Options:

1. = large

2. = largest

3. = more larger
4. v larger

Question Number : 134 Question Id : 9983673490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

You seem to have a collection of books than | have.

Options:

1. = large
2. % largest
3. = more larger

4, v larger

Question Number : 135 Question Id : 9983673491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Bhaskar worked very hard his family could enjoy all
the comforts of life.

Options:

1. = as well as

2. v in order that
3. * no matter how
4. = so far as

Question Number : 135 Question Id : 9983673491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Bhaskar worked very hard his family could enjoy all

the comforts of life.

Options:

1. = as well as



2. v In order that
3. = no matter how

4. = so far as

Question Number : 136 Question Id : 9983673492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence.

Select the option that gives the correct order of the segments
to form a logical sentence.

A. If you don’t learn

B. Too much work might take
C. To delegate

D. a toll on your health

Options:

1. = ABDC
2. » CDBA
3. v BDAC
4. = BCDA

Question Number : 136 Question 1d : 9983673492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Given below are four segments of a sentence.

Select the option that gives the correct order of the

segments to form a logical sentence.

A. If you don’t learn

B. Too much work might take
C. To delegate

D. a toll on your health

Options:

1. = ABDC
2. = CDBA
3. v BDAC
4. = BCDA

Question Number : 137 Question 1d : 9983673493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. On the professional front

B. For doing a quantum of work
C. Or encouragement

D. You can get a boost

Options:

1. v DCBA



2. » BACD
3. = DBAC
4. = CBDA

Question Number : 137 Question Id : 9983673493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. On the professional front
B. For doing a quantum of work
C. Or encouragement

D. You can get a boost

Options:

1. v DCBA
2. = BACD
3. = DBAC
4. = CBDA

Question Number : 138 Question 1d : 9983673494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. related to management studies and economics
B. various fields

C. attended the conference

D. research scholars from

Options:

1. = DACB
2. » ADBC
3. = DCAB
4. v DBAC

Question Number : 138 Question 1d : 9983673494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. related to management studies and economics
B. various fields
C. attended the conference

D. research scholars from

Options:

1. = DACB
2. = ADBC
3. = DCAB



4. v DBAC

Question Number : 139 Question Id : 9983673495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. The world’s Number 1
B. To be ranked

C. Junior Squash player
D. He was the first Indian

Options:

1. = DCAB
2. v DBAC
3. = BADC
4. = ACBD

Question Number : 139 Question Id : 9983673495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. The world’s Number 1
B. To be ranked
C. Junior Squash player

D. He was the first Indian

Options:



1. = DCAB
2. v DBAC
3. = BADC
4. = ACBD

Question Number : 140 Question Id : 9983673496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. so carry a lot of thermal wear
B. become very cold

C. Bhutan can

D. if you are going hiking

Options:

1. v CBAD
2.« DACB
3. = CABD
4. = DBCB

Question Number : 140 Question Id : 9983673496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. so carry a lot of thermal wear
B. become very cold

C. Bhutan can

D. if you are going hiking

Options:
1. v CBAD
2. = DACB
3. = CABD
4. = DBCB
General English?2
Group Number : 8
Group Id: 998367134
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General English?
Section Id : 998367140
Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367208
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9983673497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The mechanic repaired my watch within minutes although it
had such an intricate mechanism.

Options:

1. = simple

2. v complex
3. * modest
4. = diffident

Question Number : 141 Question Id : 9983673497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The mechanic repaired my watch within minutes although it

had such an Intricate mechanism.

Options:

1. = simple
2. v complex

3. ® modest

4. = diffident



Question Number : 142 Question Id : 9983673498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

We were told not to deviate from the directions they gave us
to reach their village.

Options:

1. = conform
2. = adapt
3. v divert
4. = adjust

Question Number : 142 Question Id : 9983673498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

We were told not to deviate from the directions they gave

us to reach their village.

Options:

1. = conform
2. % adapt
3. v divert
4. = adjust

Question Number : 143 Question Id : 9983673499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

From the opulent style of living of the Ambanis one can guess
that they have a lot of wealth.

Options:



1. = deprived

2. * humble

3. = unfortunate
4. v wealthy

Question Number : 143 Question Id : 9983673499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

From the opulent style of living of the Ambanis one can

guess that they have a lot of wealth.

Options:

1. = deprived
2. = humble
3. ® unfortunate

4. v wealthy

Question Number : 144 Question 1d : 9983673500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The rescue operations were hampered by constant rains.

Options:

1. v blocked
2. » facilitated
3. » assisted

4, = expedited

Question Number : 144 Question Id : 9983673500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

The rescue operations were hampered by constant rains.

Options:

1. v blocked
2. = facilitated
3. = assisted
4, = expedited

Question Number : 145 Question Id : 9983673501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

His audacious remark was not taken well by the Chairman

Options:

1. = cowardly

2. v cheeky
3. = craven
4, = fearful

Question Number : 145 Question Id : 9983673501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

His audacious remark was not taken well by the Chairman

Options:

1. = cowardly

2. v cheeky



3. % craven

4. = fearful

Question Number : 146 Question Id : 9983673502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

All attempts of the parents to pacify the child and he bawled
even more loudly.

Options:

1. = soothe
2. % appease
3. v provoke
4, = placate

Question Number : 146 Question Id : 9983673502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

All attempts of the parents to pacify the child and he

bawled even more loudly.

Options:

1. = soothe
2. % appease
3. v provoke

4. = placate

Question Number : 147 Question Id : 9983673503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate antonym of the underlined word.

This institution was established by the trust twenty-five years
ago.

Options:

1. v demolished
2. » founded
3. » recognised
4. = formed

Question Number : 147 Question Id : 9983673503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

This Institution was established by the trust twenty-five years

ago.
Options:

1. v demolished
2. = founded
3. ® recognised

4. = formed

Question Number : 148 Question Id : 9983673504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Sudha shows great reverence for her professors.

Options:

1. = admiration




2.« SCOorn
3. = esteem
4. = wonder

Question Number : 148 Question Id : 9983673504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Sudha shows great reverence for her professors.

Options:

1. = admiration
2. ¢ scorn
3. % esteem

4. = wonder

Question Number : 149 Question Id : 9983673505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The humorous television serial is a favourite of the family.

Options:

1. = drowsy
2. v tragic

3. » amusing
4. = lengthy

Question Number : 149 Question Id : 9983673505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate antonym of the underlined word.

The humorous television serial i1s a favourite of the family.

Options:

1. = drowsy
2. v tragic

3. ® amusing
4, = lengthy

Question Number : 150 Question Id : 9983673506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The Iinnate goodness of Shankar made him extend a helping
hand to the old man crossing the road.

Options:

1. = natural
2. = normal
3. v acquired
4. = inborn

Question Number : 150 Question Id : 9983673506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The Innate goodness of Shankar made him extend a helping

hand to the old man crossing the road.

Options:

1. # natural



2. ® normal
3. v acquired

4. % |nborn

Sub-Section Number: 2
Sub-Section 1d: 998367209
Question Shuffling Allowed : Yes

Question Id : 9983673507 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the questions given below it.

Leonardo da Vinci, which in Italian means “Leonardo from
Vinci” was born on April 15, 1452, at Anchiano, near Vinci,
Republic of Florence in Italy and died on May 2, 1519, at Cloux
[now Clos-Lucé], in France. He was an Italian painter,
draftsman, sculptor, architect, and engineer whose genius,
perhaps more than that of any other figure, epitomized the
Renaissance humanist ideal. His Last Supper (1495-98) and
Mona Lisa {c. 1503-19) are among the most widely popular
and influential paintings of the Renaissance. His notebooks
reveal a spirit of scientific inquiry and a mechanical
inventiveness that were centuries ahead of their time.

The unique fame that Leonardo enjoyed in his lifetime and
that, filtered by historical criticism, has remained undimmed
to the present day rests largely on his unlimited desire for
knowledge, which guided all his thinking and behaviour. An
artist by disposition and endowment, he considered his eyes
to be his main avenue to knowledge; to Leonardo, sight was
man’s highest sense because it alone conveyed the facts of
experience immediately, correctly, and with certainty. Hence,
every phenomenon perceived became an object of knowledge,
and ‘knowing how to see’ became the great theme of his
studies. He applied his creativity to every realm in which
graphic representation is used: he was a painter, sculptor,
architect, and engineer. But he went even beyond that. He
used his superb intellect, unusual powers of observation, and
mastery of the art of drawing to study nature itself, a line of
inquiry that allowed his dual pursuits of art and science to
flourish.



Sub questions

Question Number : 151 Question Id : 9983673508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the passage we can infer that a Renaissance humanist is
one who:

Options:

1. v practices humanistic arts and is pragmatic
2. = combines different professions

3. » believes in the different senses

4. = works closely under the influence of nature

Question Number : 152 Question Id : 9983673509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage suggests that Leonardo:

Options:

1. = was greatly liked only during his lifetime

2. = as appreciated only after his death

3. » has been recognised by historians and critics today
4. v continues to be famous since his times

Question Number : 153 Question Id : 9983673510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Leonardo considered sight to be the most important sense of a
human being because:

Options:

1. = if we lose it we cannot appreciate the beauty of nature

2. v 1t gives us access to the facts around us directly and
exactly

3. = 1t helps us to do our work efficiently

4. = 1f we cannot see we would miss the visual aspect of
human life



Question Number : 154 Question Id : 9983673511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Leonardo’s greatest inspiration came from:

Options:

1. = his love of human beings

2. » his thirst for knowledge and creativity
3. = the desire for fame and recognition

4. = the thought of sharing his knowledge

Question Number : 155 Question Id : 9983673512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage which of the following is NOT true
about Leonardo?

Options:

1. = He wrote notes about science and creativity.
2. = All his works was based on graphic representation.

3. v His themes were selected from the subjects of his
predecessors.

4. = He was equally good at arts and science

Question Id : 9983673507 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the questions given below it.

Leonardo da Vinci, which in ltalilan means “Leonardo from
Vinci” was born on April 15, 1452, at Anchiano, near Vincl,
Republic of Florence in ltaly and died on May 2, 1519, at
Cloux [now Clos-Lucé], in France. He was an ltalian painter,
draftsman, sculptor, architect, and engineer whose genius,
perhaps more than that of any other figure, epitomized the
Renaissance humanist ideal. His Last Supper (1495-98) and
Mona Lisa (c. 1503-19) are among the most widely popular
and influential paintings of the Renaissance. His notebooks
reveal a spirit of scientific inquiry and a mechanical
inventiveness that were centuries ahead of their time.

The unique fame that Leonardo enjoyed in his lifetime and
that, filtered by historical criticism, has remained undimmed
to the present day rests largely on his unlimited desire for
knowledge, which guided all his thinking and behaviour. An
artist by disposition and endowment, he considered his eyes
to be his main avenue to knowledge; to Leonardo, sight
was man’s highest sense because it alone conveyed the
facts of experience immediately, correctly, and with certainty.
Hence, every phenomenon perceived became an object of
knowledge, and ‘knowing how to see’ became the great
theme of his studies. He applied his creativity to every
realm Iin which graphic representation is used: he was a
painter, sculptor, architect, and engineer. But he went even
beyond that. He used his superb intellect, unusual powers
of observation, and mastery of the art of drawing to study
nature itself, a line of inquiry that allowed his dual pursuits

of art and science to flourish.



Sub questions

Question Number : 151 Question Id : 9983673508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the passage we can infer that a Renaissance

humanist 1s one who:

Options:

1. v practices humanistic arts and Is pragmatic
2. = combines different professions
3. = believes In the different senses

4, = works closely under the influence of nature

Question Number : 152 Question Id : 9983673509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage suggests that Leonardo:

Options:

1. = was greatly liked only during his lifetime
2. » as appreciated only after his death
3. *= has been recognised by historians and critics today

4. v continues to be famous since his times

Question Number : 153 Question Id : 9983673510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Leonardo considered sight to be the most important sense

of a human being because:

Options:

1. = If we lose It we cannot appreciate the beauty of nature

2. v It gives us access to the facts around us directly and

exactly



3. # It helps us to do our work efficiently

4. = If we cannot see we would miss the visual aspect of

human life

Question Number : 154 Question Id : 9983673511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Leonardo’s greatest inspiration came from:

Options:

1. = his love of human beings
2. v his thirst for knowledge and creativity
3. » the desire for fame and recognition

4. = the thought of sharing his knowledge

Question Number : 155 Question Id : 9983673512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage which of the following 1s NOT

true about Leonardo?

Options:

1. = He wrote notes about science and creativity.
2. = All his works was based on graphic representation.

3. v His themes were selected from the subjects of his

predecessors.

4. = He was equally good at arts and science

Sub-Section Number: 3
Sub-Section Id: 998367210
Question Shuffling Allowed : Yes

Question Id : 9983673513 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension



Read the passage and answer the questions given below it.

Try clapping inside the Golconda Fort and discover what
happens. Snap your fingers and you shall be heard a distance
away. The first thing anyone entering the Golconda Fort in
Hyderabad does is clap. No, they are not seeking the help of
the king, they are testing the acoustics of the Golconda Fort
from where the Qutb Shahi kings ruled for nearly 200 years.
Clap inside the grand portico under the dome and it can be
heard in the Bala Hisar pavilion more than a kilometre away,
on top of a mountain. Even today, as buses and vehicles roar
around the inner fort, you can hear people clapping in the
portico. This story is not about the acoustics of the Golconda
fort but about exchange of technology much before
broadband, Internet and computers made this possible with a
click.

The fort that used to be a rock and mud structure was
completed in 1582 under the supervision of architects, most of
whom hailed from Isfahan in Iran. Mir Momin laid out the
plan for Hyderabad with Charminar at the centrepiece. As
you clap, try noticing the series of arches with diminishing
sizes. The arches are one of the secrets of the stunning
acoustics that could help an army commander listen to what
the sentry was doing. A similar acoustic device can be found
in Isfahan where it was created for religious purposes.

The Shahi Mosque (now called Imam Mosque) has twin echo
chambers that ensure that the Moulvi in the tower can be
sure of being heard by all the congregation when he gives the
sermon. In the middle of the great prayer hall there are few
black paving stornes. Stamp on them and it creates seven clear
echoes.

These ancient architects understood both the facets of sound
echo as well as amplification that form part of sound physics.
They used material known for their sound reflection
properties like clay pots and pans and blended them into the
building material. The next thing they did was to use
compression and amplification. The architects did not bring
maps. They just understood sound. The clapping portico in
Golconda Fort has on one side a series of arches, each smaller
than the preceding one. So, a sound wave generated under the
dome of the portico would get compressed and then bounce
back amplified enough to reach a distance of more than a
kilometre.



Sub questions

Question Number : 156 Question Id : 9983673514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘No, they are not seeking the help of the king,” suggests that:

Options:

1. = There is a king living there now who will hear them
2. v People used to clap when they wanted to get noticed
3. » The people are happy to be standing there

4. = They are afraid to approach any king for assistance

Question Number : 157 Question Id : 9983673515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage is mainly about:

Options:

1. = The greatness of the Qutub Shahi kings

2. * The behaviour of people who visit the monument
3. v The peculiar sound and structure of the Fort

4. = The reasons for the design of the Fort

Question Number : 158 Question Id : 9983673516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sound gets amplified because of:

Options:

1. = twin echo chambers
2. » the pavilion

3. = the dome

4. v the arches

Question Number : 159 Question Id : 9983673517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was mixed with the building materials before
construction?

Options:



1. v clay pots and pans
2. = black stones

3. = rocks and mud

4. = mud and clay

Question Number : 160 Question Id : 9983673518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which statement is not true according to the passage?

Options:

1. * The acoustics were inspired by a mosque in Isfahan
2. v The Charminar has the same style of acoustics.
3. = The architects who designed the fort had come from Iran.

4. = The architects knew about sound technology far in
advance of their times.

Question Id : 9983673513 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the questions given below it.

Try clapping inside the Golconda Fort and discover what
happens. Snap your fingers and you shall be heard a
distance away. The first thing anyone entering the Golconda
Fort in Hyderabad does is clap. No, they are not seeking
the help of the king, they are testing the acoustics of the
(Golconda Fort from where the Qutb Shahi kings ruled for
nearly 200 years. Clap inside the grand portico under the
dome and it can be heard in the Bala Hisar pavilion more
than a kilometre away, on top of a mountain. Even today,
as buses and vehicles roar around the inner fort, you can
hear people clapping in the portico. This story is not about
the acoustics of the Golconda fort but about exchange of
technology much before broadband, Internet and computers
made this possible with a click.

The fort that used to be a rock and mud structure was
completed in 1582 under the supervision of architects, most
of whom hailed from Isfahan in Iran. Mir Momin laid out the
plan for Hyderabad with Charminar at the centrepiece. As
you clap, try noticing the series of arches with diminishing
sizes. The arches are one of the secrets of the stunning
acoustics that could help an army commander listen to what
the sentry was doing. A similar acoustic device can be
found in Isfahan where it was created for religious purposes.
The Shahi Mosque (now called Imam Mosque) has twin
echo chambers that ensure that the Moulvi in the tower can
be sure of being heard by all the congregation when he
gives the sermon. In the middle of the great prayer hall
there are few black paving stones. Stamp on them and it
creates seven clear echoes.

These ancient architects understood both the facets of
sound echo as well as amplification that form part of sound
physics. They used material known for their sound reflection
properties like clay pots and pans and blended them into
the building material. The next thing they did was to use
compression and amplification. The architects did not bring
maps. They just understood sound. The clapping portico in
Golconda Fort has on one side a series of arches, each
smaller than the preceding one. So, a sound wave
generated under the dome of the portico would get
compressed and then bounce back amplified enough to

reach a distance of more than a kilometre.



Sub questions

Question Number : 156 Question Id : 9983673514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘No, they are not seeking the help of the king,” suggests that:

Options:

1. = There 1s a king living there now who will hear them
2. v People used to clap when they wanted to get noticed
3. * The people are happy to be standing there

4. = They are afraid to approach any king for assistance

Question Number : 157 Question Id : 9983673515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage I1s mainly about:

Options:

1. = The greatness of the Qutub Shahi kings
2. = The behaviour of people who visit the monument
3. v The peculiar sound and structure of the Fort

4. = The reasons for the design of the Fort

Question Number : 158 Question Id : 9983673516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sound gets amplified because of:

Options:

1. = twin echo chambers
2. % the pavilion
3. = the dome

4. v the arches

Question Number : 159 Question Id : 9983673517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What was mixed with the building materials before

construction?

Options:

1. v clay pots and pans
2. % black stones
3. = rocks and mud

4. = mud and clay

Question Number : 160 Question Id : 9983673518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which statement I1s not true according to the passage?

Options:

1. = The acoustics were Inspired by a mosque In Isfahan
2. v The Charminar has the same style of acoustics.

3. = The architects who designed the fort had come from

lran.

4. = The architects knew about sound technology far In

advance of their times.
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General Hindi1l

Section Id : 998367141

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9983673519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAYTAT e § “qIRdl & 37 &

Options:

1. = ARG
2. % AT
3. v U
4. % grETe

Question Number : 161 Question Id : 9983673519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARGl o6 H ‘ARAr 1 397 &

1. = HART

2. = AT

3. v gl

4. = grdTel

Question Number : 162 Question Id : 9983673520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTasier g & BT G Y gl SI1dT &

Options:



1. = Tasg
2. ¢ Sd

3. * gl
4, = A

Question Number : 162 Question Id : 9983673520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATcreiTel &l & HROT N I Hhal AT &

Options:

1. = Taeg
2. v S9d

3. = gferam
4. » MTE

Question Number : 163 Question Id : 9983673521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G U7 7 ThaT 19 & a1ardisr & ol T M, gh:

Options:

1. * 3URTYT
2. % 3T
3. = AT
4, v TFT

Question Number : 163 Question Id : 9983673521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S8 AT o T S & greraner & Tolv Uk ere IO

Options:

1. = 3TOITeT
2. % AT

3. % AT




4. v &I

Question Number : 164 Question Id : 9983673522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

GepT-QnT AT GI:

Options:

1. v WTgT - 99
2. % STiTd - <47
3. ® 9H - e dTur
4, « QP - T

Question Number : 164 Question Id : 9983673522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ThT-9TRT SEIIH SI9TT:

Options:

1. v [@f8T - o
2. = QT - e
3. « HH - FHegTor

4, » HHh - olcd

Question Number : 165 Question 1d : 9983673523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U rec; T 374 TET graT B

Options:

1. % el

2. % LT
3. » TEGT
4. v 9ot

Question Number : 165 Question 1d : 9983673523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IUT <T5e T 3L 5T BIAT &

Options:



B W=
®

v Terem

Question Number : 166 Question Id : 9983673524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Thed” AT, 5
Options:

1. v A<D =1
2. % QA
3. = fagu
4. % TehdT Tagmor

Question Number : 166 Question Id : 9983673524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hhed” eM5E &

Options:

1. v Hadrdeh 4l
2. * GATH
3. = faeiyor
4. = Torar Aewor

Question Number : 167 Question Id : 9983673525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TH P ITIATN? TR H [GiTehd UE, 3

Options:

1. v JoYCTIh A
2. % YSIeITeIeh WelTH
3. = T




4. = FTYR [T

Question Number : 167 Question Id : 9983673525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'qH Fd JHHE? T 7 IGIhd 92 &:

1. v goYdTeh TIATH
2. = YeaTdI<Ish HddTe
3. = 3O

4. = FTIROT TohT

Question Number : 168 Question Id : 9983673526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘e’ ged ¥ T Agur FAT:

Options:

Question Number : 168 Question Id : 9983673526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ag’ oeg O TFeIwuT S

Options:

1. = dfgeh
2. v dfceh
3. = dfg

4, = de

Question Number : 169 Question Id : 9983673527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3G9 UGT g1 ATar] aTad § UGHT &




Options:

1. v GHAG TohaT
2. % I[RHHD AT

3. = ATHYT
4. = YIUMIR

Question Number : 169 Question Id : 9983673527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I UST gl Sar| ITT U &

Options:

1. v ThAw forar
2. = 3Thdsh fohaT
3.%3134'%11@'
4, = UIUMLR

Question Number : 170 Question Id : 9983673528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FH AT T & Tolq agl S| e § 1ohdT &

Options:

1. = e
2. % gH
3. % oIgl
4. v JIQA

Question Number : 170 Question Id : 9983673528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FH o feoT & fow ggf odey| gy & fomam &

1. = & fea
2. = gH

=t

3. = dgl




4. v ST

Question Number : 171 Question Id : 9983673529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

YT § & 9T S[ec, SATeiT g7

Options:

1. * 3
2. % JEd

3. v DT
4. % WA

Question Number : 171 Question Id : 9983673529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATIR—g # & Hid-T7 e THifeldl &7

Options:

1. = Halol
0

Question Number : 172 Question 1d : 9983673530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgleliEd & & SIF-9T <Ue¢, ool T g7

Options:

1. #» AT
2. % QAT
3. ® 3MEST
4, v HTC

Question Number : 172 Question 1d : 9983673530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & Fla-a1 2reg gledaT g7

Options:




B W=
®

v Hc

Question Number : 173 Question 1d : 9983673531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SRS T g B TEET:

1. = &F - @I

2. % P - P gRT
3.« GEE-H - AT & Dl
4, v U - & Tolq

Question Number : 173 Question Id : 9983673531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

 — My i
FATIT PR REd I IgdIT:

Options:

1. % SH - &

2. % FHIOT - & @RI
3. » HFEeT - Bl ah hl
4. v 3YEIA - & Tolv

Question Number : 174 Question Id : 9983673532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TgTeligd # & DIT-4T TohaT WU 3:

Options:

1.  ggT
2. % SAT
3. v AT



4. « g

Question Number : 174 Question 1d : 9983673532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeIlelEaT A & Sia-ar fhar wonds &:

Options:
1. = &Hall
2. % STl
3. v RIAT
4. % hgal

Question Number : 175 Question Id : 9983673533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SITdT SIS T STl T FATT:

Options:

1. % ¢Tdt
2. v YTar
3. % UTq
4. % gTaedt

Question Number : 175 Question Id : 9983673533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT 9TsE hT TAITelIT ST

Options:

1. % <Tar
2. v 4TEr
3. = 4T
4. = grdedT

Question Number : 176 Question Id : 9983673534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=
-l clcrd Heel dldd %Z




Options:

1. = o MY 30T &lie MUl

2. % 3G FaT T AIg &)X W gl
3. v Ig 3R AIgT 3r4T-3rdT 77 &l
4. » e W TN qe & TSI

Question Number : 176 Question Id : 9983673534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

FIT-OT ITFT I TTHT &

Options:

1. = T 9T AT dic AT

2. % 3a FdrdT o Al & W &l
3. v g8 3T Agd 3AT-378 a0 &
4.waagﬂm3ﬁa’raaﬁa“’mm

Question Number : 177 Question Id : 9983673535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

- .
ddh dlad '-IE;‘CIII"I'.{?

Options:

1. = JT& ag 7 MY a g7 7 JHT1
2. v B G 1T 3N & 9 1wl

3. » W 3MTd I 9§ 3 o1l
4, » e TWeAd gt § Iet TSI

Question Number : 177 Question Id : 9983673535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

b i
SECTECIES qgdlladq ?

Options:

1.« I g o 30 A A AT STl
2. v Ha ateT foram 3T & &t =l
3. = AY Td &r 98 3o SaIl




4. = FaT FHoad & & o sl

Question Number : 178 Question Id : 9983673536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

FgTead & ¥ T e PI=-4T 8?2

Options:

1. v U1 8 Tdb ag ¥t g &1l

2. % g S AT SHIAY el l JATATL
3. = Ig GHT GId gl T 771

4. » ¥ TEAD ol 3N T 7T

Question Number : 178 Question Id : 9983673536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeTaag # @ T8 gy Sia-ar &7

Options:

1. v &ar § ToF ag &7 gga a9l

2. » 9% SIAN AT AV deg &1 o]
3. » g8 "ol TTd &l el =TI

4. » Hel gEaH YT IR AY 4T

Question Number : 179 Question 1d : 9983673537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST G AT a8 § T G AT ITATFT Il 6e, g

Options:

1. v PTeTaTad hdT ST IUATFT
2. % TIATIATAD [ohaT [T IUTFT

3. % ATdaTId SHaT AU IuaTer
4. = URATIETS haT 8w Suaraa

Question Number : 179 Question 1d : 9983673537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S8 @R AT a9 # 9r &7 o7l 39di9T T 9 &

Options:




v FTedrder [shaT [aeNoT SUaresy
x TATAAIh TohdT TTLINUT 3Udrey
Dfoames har [evor suarer
« JRATOTER TohaT TIeiNuT 3udarery

ol
#®

Question Number : 180 Question Id : 9983673538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

OI-9T 9, ITATFAT DT Ta1 grar?

Options:

1. » {Q9or SUATFT
2. v g 3Udiad

3. % T 3T

4. * TRIATAAYT IUaTeFd

Question Number : 180 Question Id : 9983673538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

$lT-GT A SUGTFAT T ool aidT?

Options:

1. » Q2NUT 3UgTey
2. v 3UT 3UAreRy

3. = AT 3UdT

4. = TraI@ANuT IUgrery

General Hindi2

Group Number : 10

Group ld: 998367136
Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi?

Section Id : 998367142

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 998367212
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9983673539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

PIF-9T LM, gedT Bl TITAATT T8 82

Options:

1. * giT
2. % AleAT
3. v fager
4, % IgUT

Question Number : 181 Question Id : 9983673539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Flel-HT 216G Y2dT T YATIATT ol 87

Options:

1. = gfEh
2. = AT
3. v faqe
4. = TEAT

Question Number : 182 Question Id : 9983673540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘TR STec, & T & TS+ T 39T 3¢l g Sl

Options:

1. v 79
2. % T9Y

3. * S
4. % TSI

Question Number : 182 Question Id : 9983673540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR ¢Teg & AT T ASa & 3T 37T g el

Options:

1. v A9
2. = Ty

3. * 3FEoT

Question Number : 183 Question 1d : 9983673541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SECIEE AR CICT R AT I

Options:

1. v =T
2. % GF

3. % hdTlel
4. » IGgYT

Question Number : 183 Question Id : 9983673541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jod T JATIA=T esg oIal o

Options:

1. v AMT&QT
2.« T




3. * SIdlel

4. = IEEH

Question Number : 184 Question 1d : 9983673542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YRUT-TTHUT i h PIRUT g1 UTd hgelldT g

Options:

1. = &Id
2. v ar
3. % g
4, % dTelH

Question Number : 184 Question Id : 9983673542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

$IOT-NYUT el b hIUT & Ui haolldl &

Options:

1. = &Id

2. v adar

3. = "lalel

4. = STolH

Question Number : 185 Question Id : 9983673543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT BT GITAATIT T1 3

Options:

1. = TMeicy
2. % Iaadr
3. = QYTAT

4. v ST

Question Number : 185 Question Id : 9983673543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



YHAT T qAErT a6 §:
Options:

1. % ShITelAT

2. % {dderdr

3. ® QYTHAT

4. v STgaAdr

Question Number : 186 Question Id : 9983673544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Tg TEATd WY el TI Aioh ol Tk T & Wgifdhd ar dentd
SIee, 3T |

Options:

1. = gpet
2. = YIAITHT

3. * fauda
4. v yidgpet

Question Number : 186 Question Id : 9983673544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g RUfd A 3sfhal AgT dleh gl N Tamer |
YETfRd &7 faeltd ereg 3Tue|

Options:

1. = gepel
2. = YTAmHAT
3. » ol
4.&?9‘%3!:2?[

Question Number : 187 Question 1d : 9983673545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘R T TerelIA Sree; gI:

Options:




1. » &
2. % AT

3. v AT
4, = e

Question Number : 187 Question Id : 9983673545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘R T [FelH ¢lec IO

Options:

1. = &8

2

2. % AT
3. v 3™
4 % 39

Question Number : 188 Question Id : 9983673546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘I SIEC, DT TeelI| G

Options:

1. » giddeel
2. % 4w
3. = Taxqa

4. v id

Question Number : 188 Question Id : 9983673546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘el e€E T TIellH BIST:

Options:

1. = gfcishel
2. % 3EH
3. = TaEdd

c




4. v GId

Question Number : 189 Question Id : 9983673547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ST’ BT IUYh el | BT 8

Options:

1. v 3THIAT
2. % UTHq

3. % A
4, % 3T

Question Number : 189 Question Id : 9983673547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e’ KT 3UJF [T A BT &:

Options:

1. v 3T8IAT

2. * YTBad
3. % g
4.

Question Number : 190 Question Id : 9983673548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U LA, P A 2

Options:

1. * TcgUhR
2. % MR
3. v AP
4, » T9PR

Question Number : 190 Question Id : 9983673548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IUh’ 2leg & TollA &

Options:




1. * UcgdUeh
a
3. v TR
4. = TahT
Sub-Section Number: 2
Sub-Section 1d: 998367213
Question Shuffling Allowed : Yes

Question Id : 9983673549 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

Myl d TEJier & TemT 39 gt 3a< &ia1a]

SIS & 7 gl § - “Ucdeh ich I Irdd AT W, Jrdd eih 4,
3T a4 ¥, 3T 3297 & TolU, 3T &7 ¥ AagR &1 AligUl “dredd
# yeddy YToft T e Teh-Ueh &7 3, Tohed STch 39T Hged gl WSl
ITeIha ik FieId § Tch BIS 38T FHY ITUIT AT BIH B TF ZrerT
3R JUSYT § o Siter h I-Th Mo GUIT <l @I & g1 TehdT egih el ToT
gI-UTel TEelTy FHX i aTgd 9T U UL WISDH PHT Tg1 Held | FHY
35l & T & GIST BT FIddT g ST 9T & YOG ST Tey &7 ST
A gl SIT <Aith 97 3R GAT BT URGT gIaT gl AGHT T IET &T o
AT gl GHT Dl hiAd T TGAT ATel FHT slid ST TR I YAd g S gl

HY AT MAAT gl 391 §H HY Dl Yo d GHSIHT TTg Ul d1 gl
QAT I W BT AT el SHTa il Tat it gl

Sub questions

Question Number : 191 Question Id : 9983673550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ITE] h hIAT H &l § -

Options:

1. % EqTth T



2. % JTIT W
3. % qTd W
4. v NI R

Question Number : 192 Question Id : 9983673551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el § Hg<d ad1dT 12T &

Options:

1. = H @T
2. % THeq &f
3. % T @r
4, v U AT

Question Number : 193 Question Id : 9983673552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEITSr & AR A B UgAT ATl ek B T g il 3

Options:

1. v ST&HAT
2. = Torem
3. = giedr

4, = 9

Question Number : 194 Question Id : 9983673553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HlheT Sitere t it Tt '] e # "I WA 3T 3

Options:

1. * IZAT & @7
2. % IR & Telq
3. v gAT & TelT
4, * IEFH AT

Question Number : 195 Question Id : 9983673554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TTETTSr #§ 90 & TdT &




Options:

1. » €T
2. % el
3. v AT
4. % YR

Question Id : 9983673549 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

faraAfaf&d a=Ter I Ugehy 38 al 3cal alfard]

areffeleh 3RE o F@T § - “UAF Fled A 3T FAT I,
3T =aedad &, 3T AT A7, 3T 38T & v, 3ka @1 &
SAgR T AT “Gedd H Wcdeh WO T HTY Teh-Teh
&T0T &, fohed] SFTFd 3UHT Agccd oTal THSACT| Tha sFfehd
Hrad & ToF R 3aT TA Ve O FH RLE FH giar
3 35T A T Siidel s 3elsh e &TON w1 AT ad &1 T
Wﬁ%m—ﬁmmﬁa@ﬁmﬁrw
BISRY 3T o8l BT AT 3oal & I & IS Y &ihdl &
ST AT o FUH ST YIBY &l JTATT TAST &l ST sgfod
A 3 AT T URET BT &1 FT&AT AT 3GT T LT HAT ol
AT HT AT o GgdTelal qTel FAT S ST T AL Yol I8
S &1 JAT R 1A &1 3qfelv g8 AT FT Hed
HASAAT G| T & TAAGTHAR KA T FI=1 AT Ao
Straet T FET FHeil §

Sub questions

Question Number : 191 Question Id : 9983673550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3TE & YA H Tl § -

Options:

1. = Sed W
2. 382 W
3. = fifa W
4, v 3T

Question Number : 192 Question Id : 9983673551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H Hgccd TART I-T 2

Options:

1. = S[H T
2. = TS T
3. = 9T T

4. v AT KT

Question Number : 193 Question Id : 9983673552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & HTHR AT FT Ygdlelal dlel o F TqT I
odr &

Options:

1. v oI&HAT
2. = fagar
3. % GRGdr

4. % I

Question Number : 194 Question Id : 9983673553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘hol S hl ﬁ Tar & gt & I u=ET g3 &




Options:

1. = 3899 & folw
2. » TYIER & Tolw
3. v §AT & Tolw
4. = AT & Tow

Question Number : 195 Question Id : 9983673554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H AT I AT &

Options:

1. = TR
2. = Tl
3. v ATAATT
4, % T

Sub-Section Number: 3
Sub-Section Id: 998367214
Question Shuffling Allowed : Yes

Question Id : 9983673555 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



FMATATAT TR B UGdE 39d Gal ST aIar|

TUaT & Step Foruia off AT SUGH-Tel@! AT X! § 990 AT &f 84 37
W&lﬁﬁeﬁammﬁl ﬁmﬁﬁgﬂaﬁmmﬁw@ﬁ

g ITId-3 I BRATSY 3R S Dl UAT Ul GHSDH Ggof @I &
TATPIT Pt ATl o | Irgie ivedit WX 37U+ el T o W g1, aTgT g1 -
chefel AT gt TCATI §H WIS-Tg-I @I AT Tl (TE, FIHId & IUSI)
AT & FTY AT eifcheT Mg IEg aug & felver 3T I o ot 3
3Tl TET & BT - T IADBT AT T JThl IOl

Sub questions

Question Number : 196 Question Id : 9983673556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TMRITST & 3T T, AT & 10T ad 37

Options:

1. * UG

2.v 30

3. * gl Pl BTATSI QA DI eATel
4. = agi & 0T

Question Number : 197 Question Id : 9983673557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 3 WTE g T wETy o

Options:

1. = TO0qT & 91

2. WIAT & 91

3. % TS Y% & 91T

4, * TIER & GrRaT & T

Question Number : 198 Question Id : 9983673558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el TapT ¥ U AT it Tel=IT Pl 3

Options:

1. = eRAT &



2. % YEALerar &
3R g
4, » TUar

Question Number : 199 Question Id : 9983673559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATEdT 7 TADIR g1 [hAT ATAT -

Options:

1. * WR®
2. v GgASTerdr 31X T &t

3. % 3UPR 9T B

4, = JHTh Y

Question Number : 200 Question Id : 9983673560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS &t Uihal # = &

Options:

1. » T ATGHT ol
2. % HTS - A1 P
3. « TOar St @1
4. v HIAT SIT @

Question Id : 9983673555 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



fAFafel R IR I Tgeht 38h ol 3cal alfoid |

ar & = ”ulia o gARY avel-forE@T AT ﬂ??—f’rﬁghs.a ST
& 9 3T wEaued O e 398 TOdar ST S &7 SATedr @l
3T WY 3R el 7 g STd-3refa wamser 3T foig &t
HIAT el THSTR el AT 8 TEIhR Far A7 | 3egied
Sieedlr 3¢ 319a feiw G AT Tal, ST dal - hdel 1&JT &l
feam| g TS-agsil T HRT &M (e Tgleeifa & 39l) Af
@ AT olfehel fogrrd 30T Aol # foger 3=t I8
AT FHT AL TSN Al Ff Rl - o Seolehl @l of Sefenl

HIGSULT|

Sub questions

Question Number : 196 Question Id : 9983673556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I[EITeT % YR TIT@e, dfFer & Tar & 27

Options:

1. % 3a9qg

2. v 39

3. « st $T wETEe @ S A
4, = sl & 0T

Question Number : 197 Question Id : 9983673557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 198 Question Id : 9983673558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. » dar 4

2. » ggareierar &
3. v ear 9

4. = Todr

Question Number : 199 Question Id : 9983673559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4.

x STHeIFT Rl

Question Number : 200 Question Id : 9983673560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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